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Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

L This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are 
requestec.t to check whether all the questions are there in series without any omission and ensure there 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall 
be reported to the Invigilator within first 10 minutes. 

3. Answer all questions. All questions carry equal marks. 
4. You must write your Register Number in the space provided on the top right side of this page. Do not 

write anything else on the Question Booklet. 
5. An answer sheet will be supplied to you separately by ~he invigilator to mark the answers. 
6. You will also encode your Register Number, Subject Code, Question Booklet SL No. etc. with Blue or 

Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per commission's notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You~·are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there ar~ four circles @, @, @ and@ against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item,@ is the correct answer, you have to ~ark as follows: . 

@ • @@ 
9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 

this Question Booklet and the Answer Sheet out of the Examination Hali during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You are 
allowed tc take the Question Booklet with you only after the Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 
11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 

the Commission may decide at their discretion. 
12. In all matters and in cases of doubt, the English Version is final. 
13. Do not tick-mark or mark the answers in the Question booklet. 

SEE BACKSIDE OF THIS BOOKLET FOR TAMIL VERSION OF INSTRUCTIONS 
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2. 

3. 

and 
s.D. of a normal distrib ution are 60 and 5. The inter-quartile range 

The rnean 

is • 

.JI!( 6.67 

(C) 8.67 

(B) 7.57 

(D) 9.57 

9@ 111.Dif.firr Ul)"Q.Jro\m 81J"rT6rrl lO):bIDJLD ~L-LGSIQ.}.$.$tO Qf>Q)!!)~UJ 60 LOJDIDJLD 5 ~@)LD - @~Q:i @~L e;rrG\>LOrr~ 

.. lftF.----

(A) 6.67 

(C) 8.67 

The mean of first' n' natural nu mbers is 

..¢ n+l 
2 

(C) 2n+l --
2 

@fhQ) 'n 1 @UJQ:i GT~e;ffilm 8'1)rT8'rfl 

(A) 
n+l 2 

(C) 
2n+l --

2 

The S .D. of first' n' natural numbers is 

.¢ Af 2 

(C) (n;2r 
Q:P~Q) 'n' @UJQ:i GT~e;61flm ~LL66JQ>8;e;t.0 

(A) Af 2 
(C) (n;2r 

3 

(B) 7.57 

(D) 9.57 

n+2 
(B) --

2 

(D) 2(n;l) 

n+2 
(B) 

2 

(D) 2(n;l) 

(B) (n;lr 

(D) n2 -1 12 

(B) (n;lr 
(D) n

2 -l 12 
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4. The mean marks of 100 students was found to be 40. Later on it was discovered that a core 
of 53 was mi!'read as 83. The correct mean mark is • 

(A) 3 .I 

(C) 40.7 

..vJf 39.7 

(D) 41.7 

100 tnrr~airre;rolm 61JrT6fil LD~uQu~ 40 6Tal 6,IT(;WTUULL~. t51.!D® 53 6T~j!> 

C60-.9>H.uuL.tq-®.ffip;~ Gp;fi!UJ6lJlf>~~- s:ITlUJrrQ'f 61Jrrs:rfl ----

(A) 38. 7 (B) 39. 7 

(C) 40.7 (D) 41.7 

5. The median of the following values : 7 , 8, 5, 3, 2, 9, 4, 6 , 1 

(A) 4 .qt{ 5 

(C) 6 (D) 7 

i51QTQJ®ib tn~u4s;ro: 7, 8, 5, 3, 2, 9, 4, 6, 1 ~.$lUJGU!Dn51Qy@giq&lmQl c;rQTu~ 

w 4 ~ 5 

(C) 6 (D) 7 

uGu~ 83 c;rm 

6. 10 is the mean of a set of 7 observations and 5 is the mean of a set of 3 observations. The 
mean of the combined set is given by----

(A) 15 

# 8.5 

(B) 10 

(D) 7.5 

7 6TQilJre;rol6M s:l}rrs:nl 10 tnci>W!ib 3 6TQilJre;Glft6N 6 !JrT6fil 5 6T~ru. c:!9J65>QT~ 6TQilJrs;"1f)Qi Bil.L@6 61JIT6nl 

----~®lb. 

(A) 15 

(C) 8.5 

(B) 10 

(D) 7.5 

7. The algebraic sum of the deviations of a set n values from their arithmetic mean is 

(A) n 

(C) 1 

(B) 0 

(D) 2 

9® G~rT(§Udlro SLGTrm n 6T~8iml6M c:!9J!DlD QS)Q)d;a;.$ CHl.@~ru c:!9JQl!Dn516M 6f]rT6nluSlro ©@.!b~ s;~8;.$l@Lb 

Qurr@~ ~a; .@®.S<§ib. 

(A) n 
(C) 1 

ACFST 4 
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8. • The variance of a set of numbers is 36. Its standard deviation is----

(A) 5 

(C) 7 

(A) 5 

(C) 7 

~ 6 
(D) 8 

(B) 6 

(D) 8 

9. When coefficient of skewness is zero, the distribution is ----

(A) J-shaped 

.JP("' Symmetrical 

(B) U-shaped 

(D) L-shaped 

10. The coefficient of mean deviation about mean is 

(C) 

(A) 

(C) 

M.D. 
Mean 

M.D. 
Mean/Median/Mode 

M.D. 
Mean 

M.D. 
Mean/Median/Mode 

(B) 

(D) 

(B) 

(D) 

5 

Mean 
M.D. 

M.D. 
Mode 

Mean 
M.D. 

M.D. 
Mode 

ACFST 
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11. The standard deviation of natural numbers 1, 2, 3, 4, 5, 6, 7, , 9, 10 will be • 

~ 2.87 (B) 3.87 

(C) 4.87 (D) 1.87 

_@UJru 6TQsr&Gr 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 ~£lUJQJ!iJ!6\EiM f;Jl....LE6'JQ>MtD----~tb 

(A) 2.87 (B) 3.87 

(C) 4.87 (D) 1.87 

12. The geometric mean of two numbers 8 and 18 is 

13 . 

.J)tf 12 (B) 13 

(C) 15 (D) 14 

8 w!iJgit.O 18 ~.$hu 6T"€iGTs;Qf!Qi Gu@.$® 61JIT6'nl ----

(A) 12 

(C) 15 

(B) 13 

(D) 14 

The limits of Bow ley's coefficient of skewness are 

.JM' -1 and +1 (B) +1 and-1 

(C) 1and2 (D) -3 and +3 

Qumrolu51Qi ~ITLL~ Qs;@E6'l!i>&ITQT G;TQlQ)Q)&Qr 

(A) -1 LD!i>~tb + 1 (B) + 1 to!D~tb -1 

(C) l LD!iJ!!)ltD 2 (D) -3 LD!i>gitb +3 

14. The coefficient of Quartile Deviation is calculated using the formula 

~ Q3 -Ql (B) Q3 +QI 
~+~ Q-~ 

(C) Q3 - Qt (D) Qs +Qi 
2 2 

&ITQllDITQT Q&@ a>ITEm" UUJ6iJru@tb ~~~IJtD ---­

(A) 

(C) 

ACFST 

Q'i - Ql 

Q3 +Q1 

2 

(B) 

(D) 

6 

Q3 +Q. 
Q3-Ql 

Q3 +QI 
2 



1 In a moderately asymmetrical distribution, the mode and mean are 32.1 and 35.4 

respectively. The value of median is ----

,JM 34.3 

(C) 35.4 

(B) 33.4 

(D) 36.3 

~® 6L.Oif6rJ!D!D uf}'ruQSlro QPe;@ LDW!PJLO c!FrJrrc!Frf1 ~s;iUJQ)QJ QPQ)!J)GlU 32.1 LDrD!I)JLO 35.4. @Ji;p;u urJru61Sl~ 

~Q>L,[blQ>Q) ~@)LO. 

·(A) 34.3 

(C) 35.4 

(B) 33.4 

(D) 36.3 

16. For a given asymmetrical distribution the mean is 25 and mode is 24. So the median would 

be 

J)t(' 24.67 

(C) 25.67 

(B) 23.67 

(D) 26.67 

Qe;rr@S;e;uuL.@mm 6LOif6rJ!D!D UIJ'6U~di.srr~ 6fJrTc!FITl 25 LD!i>gJJLb QP.S@ 24 ~(§LO. ~~aru @68>L.@68>ru 

----~(§Lb 

(A) 24.67 

(C) 25.67 

(B) 23.67 

(D) 26.67 

17. When mean is 79 and variance is 64, coefficient of variation is----

~ 10.26 

(C) 12.26 

(A) 10.26 

(C) 12.26 

7 

(B) 11.26 

(D) 13.26 

(B) 11.26 

(D) 13.26 

ACFST 
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18. If in a series the coefficient of variation is 20 and mean 40, the stnndard deviation s be 

(A) 7 

(C) 9 

(A) 7 

(C) 9 

19. The mean and mode for the following data: 

8, 9, 16, 25, 4, 6, 25, 3, 19, 18 

(A) Mean = 133; Mode = 8.0 

~ Mean= 13.3; Mode= 25.0 

(C) Mean= 135; Mode = 25.0 

(D) Mean= 13.5; Mode= 25.0 

8, 9, 16, 25, 4, 6, 25, 3, 19, 18 

(A) 6grra:ifl = 133; (Y)c$@ = 8.0 

(B) 61J"IT6fil = 13.3; (Y)s;@ = 25.0 

(C) 61JIT6fil = 135; (Y)c$@ = 25.0 

(D) 61}"1T6ifl = 13.5; (Y)s;@ = 25.0 

ACFST 8 

~8 
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(B) 8 

(D) 10 



20. j ata classified on the basis of 'time' is referred to as 

(A) Quanbtative classification 

(B) Q·ualitative classification 

"1flJ'f Chronological classification 

(D) Geographical classification 

(A) ~w61Sl6Gl 6l.J66ls;uu@~~6\> 

(B) u6Wn5l6irr 6l.J66ls;uu@)'i;~6U 

(C) s;rrrut.b s:rrr'r GtJms;uu@~~Gi> 

(D) @LLn s:rrr'r GtJ66ls;uu@~~6\> 

21. Quartile deviation for normal distribution equal to 

2 4 
(A) -a (B) -a 

3 5 

(C) 3 
(D) 

6 
-a -(j 

2 7 

s;rrruLDrrm 6l5lruS;s;t.b .@UJ6Uj£lmru UIJ"GtJ@)J.$® 

..A 2f). 6lSl .. (B) 4fJ. 6lSl .. - LL Q.l8i8iLD - LL Q.)$$l.D 
3 . 5 

(C) 3f). 6lSl .. (D) 6 f)' 6l5l .. - LL Q.l8i8il.D - LL Q.)$8il.D 
2 7 

22. Median is better suited for----

(A) Nominal level data 

(C) Interval level data 

.@66lL,[61mru JDGirr® Qurr®)i;~GtJ~ -----

(A) QJ66ls;uu@~~UULL ~'l6l..I 

(C) @66lLQGtJGlfl Qs;rr~L ~l/6l..I 

9 

.Jllff Ordinal level data 

(D) Ratio level data 

(B) GtJITl66ls:u@~~UULL ~'l6l..I 

(D) 61Sl.$1~rr5s:rr11 ~IJ6l..I 

ACFST 
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23. Moment generating function of the Poisson distribution is 

(A) e.J.<t-t> 

~ e;.<f"-1> 

(A) 

(C) 

(B) e1<«>'-1> 

(D) e<-<r -1) 

24. The coefficient of variation of Poisson distribution with mean 4 is 

(A) 
1 

4 

(C) 4 

(A) 

(C) 

1 
4 

4 

'1Jlf' 2 
4 

(D) 2 

(B) 

(D) 

2 
4 

2 

25. "Lack of Memory'' property is associated with 

..Jilf Geometric Distribution 

(B) Binomial Distribution 

(C) Negative Binomial Distribution 

(D) Poisson Distribution 

(A) <dU(!!)MQl Ul}'QJID 

(B) Fr-Q?!J)LI4 Ul}'QJID 

(C) GiT~rTlOQl!!) FFQ?gl!U4 UfJ"G\JID 

(D) urn.U6rrm u17GUru 

ACFST 10 

• 



26 . • Match the following : 

(a) Binomial distribution 1. Mean= Variance 

(b) Poisson distribution 2. 
nM 

Mean= -
N 

(c) Geometric distribution 3. Mean > Variance 

(d) Hyper Geometric distribution 4. Mean < Variance 

(a) (b) (c) (d) 

(A) 3 1 4 2 

(B) 1 2 3 4 

~ 3 1 4 2 

(D) None of these 

£w8;a;GWTLQJW~!D Gurr®~~a; : 

(a) ll'®!PJULl uljruru 1. 61jIT6fil = LDIT!PJUIT@ 

(b) UITlU6IT~ UljQJGi> 2. 
nM 

61jIT s:fil = -
N 

(c) Gu®8;a;Q) UfJ6l.J6i> 3. 61JIT6rrl > torrroiurr@ 

(d) ~~Gu®d>®u UIJ6l..16i> 4. 61jIT6fil < LDIT!PJUIT@ 

(a) (b) (c) (d) 

(A) 3 1 4 2 

(B) 1 2 3 4 

(C) 3 1 4 2 

(D) @QJJiliDJGi> ~~u516i>~ro 

27. Mean and variance of a standard normal variate is 

(A) 

(C) 

(A) 

(C) 

µ , (]'2 

µ , 1 

µ, 1 

11 

(B) 

NJef 

(B) 

(D) 

0 (]'2 
' 

0,1 

0 (]'2 

' 

0, 1 

ACFST 
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28. Coefficient of Skewness and Kurtosis of Normal distribution are 

(A) -3, 3 

(C) 3, O 

(A) -3, 3 

(C) 3, O 

29. Assertion : 

Reason 

(B) 3, 3 

$'( 0,3 

(B) 3, 3 

(D) 0, 3 

Normal distribution is symmetrical. 

Mean, median and mode coincide in normal distribution. 

(A) Assertion is correct but Reason is wrong 

(B) Both Assertion and Reason are wrong 

(C) Assertion is wrong but Reason is correct 

~ Both Assertion and Reason are correct 

@turu.ffilmQ) u11QJru 1.F1D6611rrQff}i. 

• 

@turuJb!Q>Ql u1J6l..lrolQi a:11rra:ITI, LDrrgi1urr@ LD!i>gi1tb ~@ 4£tuQ)QJ6;Qr 

~Qi-!61 uS1(!98;.$1Qi!D~. 

(A) &LWW a:rrl ~mrrru cSrrlJQm"tD ~QJgJI 

(B) 6nW!!J LD!f>g»L.i:> cSrrl}"Qm"LD ~$11U @116Wr@L.i:> fDQJ!)J 

(C) 6nW!!J ~QJ!)J LD!i>!1)Jtb $1TIJQm"tD a:nlturrm~ 

(D) &L!i>gii tn!Dgvili $1T1J6UUTili ~.$11U @11~@t.0 a:nlUJrrQf~ 

30. In Normal Distribution P{µ -a< X <µ+a} covers----% of area. 

# 68 (B) 75 (C) 98 (D) 99 

@lUru~OOQ) UIJQJrolru P{µ - a < x <µ+a} '1"QrU~ ----% 6~6'5~ U@)i$}allU ~wi;.$l~mQ'T~ 

(A) 68 (B) 75 (C) 98 (D) 99 

31. Which of th~ following is true in respect of Normal Distribution? 

(A) P1 = o, P2 = oo (B) P1 = 3, P2 = O 

~ P1 = 0, P2 = 3 (D) None of these 

@UJru~mQ) UlfQJOOQ) Qurrw~~ £~a;6Wru;u!f>gvm ~~ 6rrlUJrrm~? 

(A) P1 = o, P2 = 00 (B) /Ji = 3, P2 ;, O 

ACFST 12 



32. ~h the following MGF of distribution : 
, 2(12 

µt+-
(a) Binomial 1. e 2 

(b) Poisson 2. (q + pe't 

(c) Geometric 3. e;.<i I) 

(d) Normal 4. 
p 

1- qe' 

(a) (b) (c) (d) 

(A) 2 3 1 4 
(B) 3 2 1 4 

(C) 2 4 3 1 

~ 2 3 4 1 

.$~a;rr!Wfli:i UQ'QJQ)a;Qf!Qr ~(§UL.j~~J.!)Qr Sl....(!9QJrT8i@)Li:i s:rrrl'Lja;g,m Qurr®~~a; : 

t 2u2 
µt+-

(a) r:FQ9WJLIL.l 1. e 2 

(b) urrti.Js:rrQT 2. (q+ pe't 

(c) Qu®B;a;Q> 3. e..l(e'-1) 

(d) .@UJru,ffilmQ) 4. 
p 

1-qe' 

(a) (b) (c) (d) 

(A) 2 3 1 4 

(B) 3 2 1 4 
(C) 2 4 3 1 
(D) 2 3 4 1 

33. X is normally distributed with zero mean and unit variance. The variance of X 2 is 

(A) O 

..vtf 2 

(A) 0 
(C) 2 

13 

(B) 1 

(D) 4 

(B) 1 
(D) 4 

ACFST 
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34. The points oflnflexion of N(µ ,a 2
) curve are 

(C) 

(A) 

(C) 

µ±a 

µ±3a 

µ ±a 

µr.3a 

(B) 

(D) 

(B) 

(D) 

µ±2a 

2 
p±-a 

3 

µ±2a 

2 
p±-a 

3 

35. 'Which of the follo\'ving is true in respect of Normal Distribution? 

(A) Sum of two independent normal variates is normal 

(B) Difference of two mdependent normal variates is normal 

~ Both (A) and (B) 

(D) None of these 

@UJru_!9mru Ufl6l.Jmru Gurrgv~~ 6i~e;6ii6TL6l.J!i>gvm ~~ 6rrlUJrrar~? 

(A) @® ~~~~ .@UJru.@mru tDrr!Dla;mlm sn@~ru @UJru.@mru 4@>Li> 

(B) @® ff>61lf!P>fb@UJro_@ooQ) tnrr!6)s;QflQI 6'6l~~UJrr6ri.Js;m j)UJro_@Q)Q) ~i.O 

(C) (A) LDJDgJILD (B) ~.ilUJ .@flaR!r@L.O 

(D) @ruw!Dlru GJ~t.6lrumru 

• 

36. If the continuous random variable X follows uniform or rectangular distribution \\ ith 
parameters 'a' and 'b', then the mean is 

(A) 

(C) 

b-a 
2 

a-b 
2 

(B) 
ab 
2 

b+a 
2 

'a' LDJDgJILD 'b' ~.illU e;L..@IDJLIL.IB>Cmrr@ X 10Tm.il!D G~rrLir 6LDQJ1TuJUL1 tnrr!Dl. lr,rrQT &1ci>ru£91 Q6Q.JQJs; 

uflQJOOQ) t5lmu!i>g11.ilw~ ~~ru. c!1)f~m B=flrra:ifl ~mu~ 

(A) 
b-a 

(B) 
ab -

2 2 

(C) a-b 
(D) 

b+a --
2 2 

ACFST 14 



371 MGF of Rectangular Distribution is 

(A) 
eat -ebt 

~ 
ebt - eat 

' t :t: 0 ,t:t:O 
t(b-a) t(b-a) 

(C) 
ebt +eat 

(D) 
ebt -eat 

t=O 
t(b - a) t(b-a)' 

(A) 
ea1 -i' 

(B) 
ebt -eat 

, t ~ 0 , t ~ 0 
t(b-a) t(b- a) 

(C) 
ebt +eat 

(D) 
ebt - eat 

t=O 
t(b-a) t(b-a)' 

38. When a production process is in statistical control, the process is affected by----

(A) Chance causes alone 

(B) Assignable causes alone 

JP!(' Both assignable and chance causes 

(D) Neither assignable nor chance causes 

~® ~wuP,~ Ga=turorr8;s;t.b ~m~uSlUJru s;l...@uurrl...~ru i1....mm Gurr@~· ~lb~ Ga=turorr8;s;t.b ----­

s;rrlJEmri.Js;Qrrrru urr~8;s;uu®£!D~ · 

(A) rurrt.Uu~ s;rr1J6m"ri.Js;mrrru LDl...(!)lt.b 

(B) ®!!Slu151L~~..;;s; s;rr1JEmri.Js;mrrru LDl...@t.b 

(C) rurrt.Uu~ LD!Dgiit.b ®!!Slu 151L~~..;;a; s;rrlJEmri.Js;mrrro 

(D) 6\.JrTuJU~ B;rTIJEmQPLOQlQ), ®!!Slut51L~~8;s; 8ilTIJ6m"QPLOQJQ) 

39. Mean and variance of Exponential Distribution with parameter B are 

(A) B _!_ 
'e 

(A) 

(B) 

(B) 

_!_ 82 
e' 

15 

ro<' 1 1 
~' e' 02 

(C) 
1 1 
B, ()2 

(D) 

(D) 

ACFST 
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40. For the exponential distribution variance= mean if 

(A) e < 1 a¥f' 0 = 1 

(C) 0 > 1 (D) 0 = 0 

~@.$®Li UIJQ.l~Mrrm LDrrgxurr@ = 61Jrr6rTl 6TOOlru 

(A) 0<1 

(C) e > 1 

(B) 

(D) 
0=1 

8=0 

41. For a Normal Distribution quartile deviation, mean deviation and standard deviation are m 
the ratio 

(A) -~-:~:l ~ ~:±:1 5 3 3 5 

(C) 1:±:~ (D) .!.:1:± 
5 3 2 5 

@u;Q>JblooQ) UIJQJ~B;s;rrm s;rrruLDrrm GiilQJB;s;Lb, e:l]"rre:rTl Q))Q>B;s;Lb LO!i>g)ltb ~L..1- ai'la>6'<$tb ~GlUJmQJe;mlm 

6iS\~~ri.Ja;Q-r 6TQrU6BT 

4 2 
(A) -·-· 1 

5'3' 

(C) 1:± : ~ 
5 3 

{B) 

(D) 

~:±:1 
3 5 

.!.. : 1: 4 
2 5 

42. The Normal Distribution is a limiting form of Binomial Distribution if 

(A) n-+ oo, p-+ 0 

(B) n -+ 0, p ~ q 

(C) n ~ oo, p ~ n 

~ n .-+ oo and neither p nor q is small 

~u;ruJblmQ) u1JQJQ> 6TQrut91 r-F<!!JJlllUY ulJQJQS)Qi' ru1Jtby ~mLDuy GT~ru 

(A) n -+ oo, p ~ 0 

(B) n ~ 0, p ~ q 

(C) n ~ oo, p ~ n 

(D) n ~ oo, p LDJDl).ltD q ~~UJ ~1J6if6r@tb 6l!DlUJ~ruQ> 

ACFST 16 



43. - . e Normal Distribution is a limiting case of Poisson Distribution when the parameter 

(A) A.~ 0 (B) A. ~ -«> 

Jfj( A. ~oo (D) A. ~1 

@UJ ru .@a-iru u r; 6ll 6i.>, u rni.J a: rr6i!T u f)6ll rol 6i!T 6ll flLD LJ 6ll bDs; tOT ~ ru 8iL@!,1)J u LJ 

(A) A. ~ 0 (B) A. ~ -«> 

(C) A. ~ oo (D) A. ~ 1 

44. In a normal curve 95% of the observations are included in the range 

(A) x ± 3 CT (B) x ± 1. 96 

¥ x±2o- (D) x±0.67CT 

@UJ6i.>.@bD61> Uf)6llrol6i.> 95% a:p.;661.$1~ c$~Ln51 U~6l.jc$Glr £wc$aRsrL rod)Q> ~GTr61TLri.J£uSl@8;@)Lb 

(A) x ± 3CT (B) x ±1.96 ,· 

(C) x ± 2o- (D) x ± 0.670-

45. Match the following: 

(a) /32 for normal distribution 1. 3CT4 

(b) /31 for normal distribution 2. 0 

(c) 1-'3 for normal distribution 3. 3 

(d) µ 4 for normal distribution 4. 0 • 
~ 

(a) (b) (c) (d) 

3 2 4 1 
(B) 3 2 1 4 
(C) 2 3 1 4 

(D) None of these 

£ws;aRsrun.1!i>a-iJD Gurr®~~s; : 

(a) @UJ6i.>~bD61> Ufl6ll~8;s;rrm /32 1. 30"4 

(b) @lLI6i.>JBlbDru UIJ6l..1~8;a;rrm /Ji. 2. 0 

(c) @lLI6i.>J@bDru UIJ6l..1~8;a;rrm µ 3 3. 3 

(d) @lLI6i.>~bD61> UIJ6l..1~8;a;rrm µ 4 4. 0 

(a) (b) (c) (d) 

(A) 3 2 4 1 
(B) 3 2 1 4 
(C) 2 3 1 4 

(D) @ru!i>!J516i.> GJ~uSlruroru 
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46. If the mean and variance of Binomial Distribution are •1, 3 re~pectn ely, 
parameters 'n' and 'p' are 

(A) 4 ..!:.. 
'4 

(B) 8 _!_ 
' 16 

16 ..!:.. 
' 4 

(D) 8 ..!:.. 
' 4 

the 

FF®WJLIY UIJQ.16\Sl~ s:!Jrrs:ill LL>!i>WJt.O LL>rrwurr@a;ro (!PQ'l!D<::tu 4. 3 <0rmlru. e;L..@!PJLi4 e:;m 'n' w !l)t.O 'p' 
~.$) lU GJ)QJ e;roir 

(A) 4 ..!:.. 
'4 

(B) 8 _!_ 
' 16 

(C) 16 _!_ 
'4 

47. The probability of getting 'x' heads in a random throw of 10 coins is 

(A) (l~) (~T(~rO-x 

~ (~)(~Jo 

(A) (1:) (~T(:JO-x 
(C) (~)(iJO 

(B) (l~J (~r(~r-% 
(D) (1: J(~)10-x 

<B> (~~) (~T(~J-x 
(D) (l~)(i)lO-x 

(D) 

48. If A and Bare independent events, then which of the following is correct? 

(A) A and B are independent 

(B) A and B are independent 
- -

(C) A and B are independent 
..gl) All the above 

A LDJi>WJtb B <Or~uQT ~~~ JBla;w56le;m <OT~ru. £we;rr~t.06Uw!Dlro '"~ s:rrtlLirrm~? 
(A) A LDJD.QJ!tD B ~.$1UJQT fl)dl~fl)6J>QJ8iGTr 

(B) A w!iJJl)lt.O B ~£UJ~ ~ml~~Q)QJe;rorr 

(C) A w!Dg11t.O B ~..t1UJ~ p;6Nl~p>Q)6Ua;m 

(D) <:tn~mmgiru ~Q)QT~~tb 
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49. 1Wwo dice are thrown simultaneously, what is the probability that the sum is greater 
than 10? 

(B) 

(C) 

(D) 

3 

36 

2 

36 

5 

18 

1 

36 

@gQRn-@ ua>Q)La>6b'>GrT uiG11 a:LDUJ~~ru 65616Ulrrru . .$\6'6)L8;a;8;sntq..UJ LlroG!Tla;G!Tl~ sn@fDru GfDrr6'6>a; 10-!D® 

GL.DJDUL@ @®UUfhlDB>ITQT J5l<'»WfDB>Qj GT~6t!T? 

(A) 

(B) 

(C) 

(D) 

3 
36 

2 

36 

5 
18 

1 

36 

50. 't' -test is used when the sample size is less than 

(A) 20 

~ 30 

(C) 40 

(D) 50 

't'-Gs:rrfDQ'l6UT 6Tmu~ LDrr~ITla;G!Tlm 6TQRn-~8;6'6)a; 661L ®Q'l.[!)6l..lrra;@®8;®t.0 Gurr~ uUJ~u@~fDLIU(1\6l..l~ 

(A) 20 

(B) 30 

(C) 40 

(D) 50 
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51. 

52. 

Match the following .-
(a) P(A) 1. 0 

(b) P(<p) 2. P(B) - P(A ("\ B> 

(c) P(A f"'I B) 3. 1 

(d) P(S) 4. l-P(11) 

(a) (b) (c) (d) 

(A) 1 3 4 2 
(B) 2 1 4 3 

.Jill' 4 1 2 3 
(D) 4 1 3 2 

£wa;rr~lbQJ!i>Gl>!!> Gurr@~c$ : 

(a) P(A) 1. 0 

(b) P(<p) 2. P(B) - P(A "B) 

(c) P(A ("\B) 3. 1 

(d) P(S) 4. 1-P(A) 

(a) (b) (c) (d) 

(A) 1 3 4 2 
(B) 2 1 4 3 
(C) 4 1 2 3 
(D) 4 1 3 2 

From 25 tic.kets marked with first 25 numerals, one is drawn at random. What 1 the 
probability that it is a multiple of 5 or 7? 

'1l'f 8 
25 

(C) 
1 

5 

(B) 
6 

(D) 
7 

25 

QH>ru 25 ~~a;m ®!!Sl~uuL...L 25 IL...@a;'1fl"9®.tf>~ V><5 SL.@ ~@Bia;uu@.$1mw~ c::91if6L..1q .. ro Lmm 
~~ 5 ~QlQ)~ 7-Qr Qu®8>®~ Qlf>IT6'>c$UJITc$ .@(5UU~Wc$1TQT ~s;w~a;~ 

(A) 

(C) 

8 

25 

1 

5 

(B) 

(D) 

6 
25 

7 
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53. '19 coefficient of correlation between two variables X and Y is 0.64. Their covariance is 16. 
The variance of Xis 19. The S.D. of Y series is 

(A) 7.33 

(C) 9.33 

...gi!f 8.33 

(D) 10.33 

x LDWLPJLD y LOfTJDl8j1.58;.$1Q">L(~lLI ~L®!D6l.l G8j@ 0.64. ~6l.lJi>p51Ji>.$1Q">LC:lLI ~Q)~ LOfTI!)JUfT@ 16. X6br 

LDrrroiurr® 19. YGbr ~LLGiS1rod;a;Li:> -----

(A) 7.33 

(C) 9.33 

54. The scatter diagram below shows ----

x 

.Jiff Positive linear correlation 

(C) Negative linear correlation 

x 

(A) uSlQ">a; C:p;illQ'>L ~LG\!D6l.l 

(C) ®Gfl!D C:p;ill6flL ~L@!D6l.l 

21 

(B) 8.33 

(D) 10.33 

(B) Linear correlation 

(D) Negative correlation 

(B) C:p;ifl6flL ~L@!!)Qj 

(D) ®Gfl!D 5!L®!D6l.l 
' 
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55. If the value of coefficient of determmation is 0.81, then the correlation b ·een the 
variables will be ----

(A) 0.85 

(C) 0.95 

~ 0.90 

(D) 0.80 

~rrLDrr~6.@>Li:> Ge;@~EiBT 1.0~u4 0.81 6T~Qi LDrri6la;~.$.$lood~tU ~mm 9L...@JD6l.l ----

(A) 0.85 (B) 0.90 

(C) 0.95 (D) 0.80 

56. The coefficient of correlation----

(A) has no limits 

(B) is less than 1 

(C) is more than 1 

"'1) varies from -1 to + 1 

siL.@!D6l.la; Ga;@ ----@®.$®Lb 

(A) QJOOl)"IUOO!J) .$1ooLUJIT~ 

(B) S>QJ{!;J.$@) @)00!!)6UrTc$ 

(C) 96BT(OI.$@) C:LDQ>IT6> 

(D) - lBi@)Li:> + l.$@)1.b @ooLuSlQ> 

57. If the values of X variable are 1, 2, 3, 4, 5 and those of Yvariable are 2, 4, 6, 8, 10, then the 
coefficient of correlation will be ----

\J,Jlf +l 

(C) O 

(B) -1 

(D) ±1 

X 6TQJ!!) tDrrJDluSlQ1 LD~u4e;m 1, 2, 3, 4, 5 ~c$6l.jli:> Y 6TQJ!J) LDrri6luSlQ1 1.0~u4e;fil 2, 4, 6, 8, 10 6T~QJ, 

~QJ!i>JDlJi>.$1ooLC:UJ ~L.@!D6l.l Ga;@ @®.$@)Lb 

(A) +l (B) -1 

(C) 0 (D) ±1 
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58. • the values of the variable X are 2, 4, 5, 6, 7 and the variable Y are 3, 3, 3, 3, 3, then the 

correlation between them will be ----

(A) 1 

(C) -1 

¢ 0 
(D) ± 1 

x ~~!D LOrr!]5lu5l~ LDfEh.JLja:;GiT 2, 4, 5, 6, 7 ~G"GTQjlD y ~~!D LOrr!]5lu5l~ LO~ULja:;GiT 3, 3, 3, 3, 3 ~~rrro 

~QJ !i>!!Sl i.i>.$lGW>LCUJ ~L..@!DQJ ----

(A) 1 (B) 0 

(C) -1 (D) ±1 

59. The formula for correlation coefficient was found by----

(A) Bowley 

.Jlil1'f Karl Pearson 

(A) Gum6\Sl 

(C) a:;rrrrru tSlUJrrs:rr~ 

(B) Spearman 

(D) Kendall 

(B) 6iut.SlUJrTLDrT~ 

60. If bxy = -0.8 and byx = -1.2, the value ,. would be----

(A) 0.88 

\JJi!f -0. 98 

(B) -0.88 

(D) +0.98 

bxy = -0.8 LDtiJJPJtb byx = -1.2 ~~ID! .@®.ffi~rrru , ~L.@JD6l.l Gs;@. r-4 LD~LIL.1----~®tb. 

(A) 0.88 (B) -0.88 

(C) -0. 98 (D) +0. 98 
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61. Given that X = 36 Y = 85, a:r = 11, a Y--:: 8 and correlation coefficient r = 0.66 , th. alue of 

X when Y = 75 is given by----

(A) 25.925 

(C) 27.925 

..IJllf 26.925 

(D) 28.925 

X = 36 , Y = 85 , a:r = 11, a ;y = 8 to!DfO!i.O ~L.@!D6ll Gs;@ r = 0.66 6TeT Gc!brr@6;s;uuL..@mm~ 

Y = 75 '1"Eiir!DIQ?.$®Lil C:urr~ X Eiir LD~u4 ----

(A) 25.925 

(C) 27.925 

(B) 26.925 

(D) 28.925 

62. The regression coefficients are bi and b2 • Then the correlation coefficient r is----

63. The two lines of regression are given as X + 2Y - 5 = 0 and 2X + 3Y = 8 . Then the mean 

values of X and Y respectively are 

(A) 2, 1 

(C) 2, 5 

~ 1, 2 

(D) 2, 3 

@IT~@ 1Lu;inQ1brrLrr4 C:a;rr@a;m tSlmQJQ?LDrr~ Ga;rr@.$6;uuL.@mm~ . X + 2Y - 5 = O; 2X + 3Y = 8. 

x, Y ~&lUJQJ!DJDlar el)'rrerfla;m@Q'lwC:UJ ----

(A) 2. 1 

(C) 2, 5 

ACFST 24 
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(D) 2, 3 



64. When the correlation coefficient is r ± 1, then the two regression lines ----

(A) are perpendicular to each other 

....!Ji(' coincide 

(C) are parallel to each other 

(D) do not exist 

65. If one regression coefficient is greater than unity, then the other must be----

(A) greater than the first one 

(B) equal to one 

~ less than one 

(D) equal to zero 

25 ACFST 
[Turn over 

... 



66. The coefficient of correlation will have positive sign when • (A) Xis increasing, Y is decreasing 

..fi)f both X and Y are increasing 

(C) Xis decreasmg, Y is increasing 

(D) there is no change in X and Y 

siL.@!D6\l Ga;@ uS16'la;wrra; .@@>M CQJ6ISIJT@LOrrQTrrQi ----

(A) X-m L0j,}u4 &L CQJ6ISIJT@Li:>; Y-m L0j,}u4 ®6'l!DUJ CQ.JGitr@ib 

(B) X w!Dgiil.i:> Y-m w~u4 snL Cru6ISIJT@ib 

(C) X-m LO~U4 ®Q)!DUJ ~6ISIJT@tb; Y-m w!Ju4 .!M.L Cru6ISIJT@ib 

(D) X LO!D!!)Lb Y m lO~u4e;mlru LOrr!D!DLi> .@rumQ) 

67. 'I\vo independent variables are 

(A) correlated ~ uncorrelated 

(C) partly correlated (D) partly uncorrelated 

.@ 1J 6ISIJT@ .!f rrrru !i>!D LDrr i6l a;m 

(A) V!L@!DQ.j Qa;rr6ISIJTL~ (B) S!L@!DQ.j@WQlrr~ 

(C) ~IJaTQ.j V!L@!D6\l :!...mm~ {D) ~IJGTQ.j ~L...@!IJQ.j .@rua>IT~ 

68. The rank correlation coefficient is calculated using the formula .. ~ 1-
6W· 

(B) 1+ 
6L.D2 

n(n2 - 1) n(n2 -1) 

(C) 1+ 
sr.,n1 

(D) 1-
5~D2 

n(n2 -1) n(n2 -1) 

~IJ ~L.@,!l)Qj Ga>@ a;rr61S1rru~ti>a;rrm ~HJIJtO 

(A) 1-
6W2 

(B) 1+ 
6W'! 

n(n2 - 1) n(n2 -1) 

(C) 1+ 
sr..n2 

(D) 1-
5W2 

n(n2 1) n(n2 -1) 
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69. . orrelation coefficient between X and Y is 

70. 

..Ji'f the geometric mean between the regression coefficients 

(B) the arithmetic mean between the regression coefficients 

(C) the harmonic mean of the regression coefficients 

(p) the average of the regression coefficients 

Farther the two regression lines cut each other, the ---- will be the degree of 

correlation. 

(A) greater 

¥ lesser 

(C) neither greater nor lesser 

(D) zero 

@llQRir@ ~LmQ~rrLrTLj as;rr@a;ffi ~IJ"LDIT8.i Q6l..ll....t.q-8;Qs;rrQRsrLITQJ LDrrJD)a;~8;$l~LalLI ~L@JD64 

-----~s;@®<!i;®ill 

(A) ~~a;LOrra; 
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71. In the equation of a straight line Y =a ..... bX if 'b' is negative, then the~ lope 1 

(A) Upward "1lJf" Downward 

(C) Parallel to X-axis (D) Parallel to Y-axi::. 

(A) C:LOruC:p;rrB;.$1 @®B;@>Li> (B) £~C:p;rr8;.$1 @~@>Lb 

(C) X-c:!916e;.$@>@6'>615i!rUJrrs;@®.$®Li> (D) Y-c:!9166i8i@> iJm6ZrUJrre; .@®~®Li> 

72. The normal equations required for fitting a straight line of the form X =a+ bY are 

~ 
fX=na+bLY 

(B) 
na+brY =0 

LXY = aI:Y + bI:Y2 
a~Y +b~Y2 =0 

(C) LX+rY=na 
(D) no ... bLY = ~y 

arY + b:EY2 ::.=LY :EXY + btY2 = a~Y 

(A) 
LX =no +b~Y 

(B) 
na+bl.:Y=O 

LXY = a:EY + bl.:Y2 
arY +M:Y2 =0 

(C) rx +I:Y =na 
(D) 

na+bLY = !:Y 

a!:Y + b!:Y2 = l:Y LIT +b~Y2 =al:Y 

73. In the trend equation Ye = a+ bX, the values of 'a' and 'b' if x = X -X and y = Y -Y 

(C) 

:Ev 2 
a=-~- b=~Y"V/f.x N' -J 

a= L.xy b ~ ..... f'f.x 2 

·'' • 4'.l.J 

(x=X-X, y=Y-Y) 

(A) ~y b I 2 a=- =~ ..... f.x 1V' ....... J 

(C) a= L.xy b = ~ .... ·f l.x2 
;.\f' ~J 

ACFST 
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74. 9>um of the squares of'n' standar d normal variates follows 

(A) z2 
- variate with (n - 1) d.f. 

(B) z2 
- variate with 1 d.f. 

~ 
(D) 

z 2 
- variate with n d.f. 

None of these 

'n' ~ffiG\4 Qe.;rrEiliML ~lLiru.ffil~ru ~LL LDrr!Dlu5lm rurr8;e.;r6Je.;Gif1m 8in.@~ru i.g)6i!Ju!f>!))JQJ~ 

(A) (n - 1) e.;L..iq.m~LD uiq.8im Gs;rr6lRrrL x2 
- LDrr(61 

(B) 1 8iL..tq.m~LD uiq.8iro G8irr~L z2 
- LDrr!!Sl 

(C) n a;L..iq.mQ')LD uiq..sGir Q.srr~L z2 
- LDrr!Dl 

(D) ~ru Ji> !Dlru ~ ~614 uSl ru(.l)ru 

75. Standard error of difference of two sample means (Xi - x2 ) is 

(A) 
CT2 +CT2 

~ 
CT2 CT2 

l 2 _ 1 +-2 

"ti + n2 1Li nz 

i!1 2 2 

(C) (D) CT1 CT2 
-+-2 

NI N2 nz 

CT2 + CT2 2 2 

(A) I 2 (B) CT1 CTz - + -
ni + nz 1Li nz 

2 2 

(C) (D) CT1 CTz -+-
1Li nz Ni Nz 

76. 
If X - zc2n,> and Y - xfn

2
> are two independent .z2 

- variates, then X ~ y follows 

A(i · i) 
(C) Pi (ni nz) 

A+ P2 2' 2 
(D) None of these 

X - zc~i> LDJDg)JLD Y - .z~2) ~mum@® ~drip-,~ .z2 
- LDrr!J51.sro ~dilru , X ~ y i.gj6i!Ju!f>!))Jru~ 

(A) (B) 

(C) 

29 

n (!!'.!.. n2 ) 
P2 2 ' 2 
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77. If X - x~1 > and Y - Xe~> are two independent chi-square variates, then X + Y folio. 

(A) z 2 
- variate n,. d.f. 

¥ z2 -variate with n,. + ~ d.f. 

(C) z2 -variate with n, - ~ d.f. 

(D) None of the!'e 

X - 7.fn.> LDJDg)ltD Y - Xc~z> GTQrum @® ~6611H> z2 
- LDrr!Dl8im GT~ro X -r }' i.2mu wiru~ 

(A) z 2 
- um!Dl ( n1 ) a;L..iq.Q'TQ>LD uiq.a;Qlm G.srrEi4rL~ 

(B) 111 -r n~ a;L..iq..mmLD uiq...smm Ga;rr~L z 2 
- LDrr!fjl 

(C) n, - n2 .sL..tq.mQlLD U!q..SQlW Ga;rrEi4rL z2 - tnrr!Dl 

(D) @QI !i> !Dlru 'I~ t.6l ruQlQ) 

78. The variate F with usual notations is defined as 

(B) 

(C) (D) 

(A) F = x{ lu1 

xi lv2 
(B) 

(C) F=x~ (D) 

2 

F = .!J.. 
t 

All the above 

., 
F= Xi-

t 

C:LD~QrQT ~Q)QT~LD 

79. The moment generating function of t - distribution 

(A) exists 

,JI!!! does not exist 

t - u17QJQ$1m ~®u~~~wm 

(A) ~®uGug11t.0 

(C) ~<19uGun)IT~ 

ACFST 30 

(B) always exists 
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80. ,_. e standard deviation of the sampling distribution of a statistic is known as 

(A) sampling unit (B) sample survey 

(C) sampling distribution \f,jlr standard error 

(A) &Q!D@LILJ ~Q)@j 

(C) &.G!D@LiL..Ju uf)Qlru 

(B) <'lfl.g)J ~roG6U@LILJ 

(D) ~l...L6\SlQ>8;e;L.0 

81. Rao-Blackwell theorem enables us to obtain MVUE through 

(A) Complete statistics 

...fll!ff Sufficient statistics 

(C) Consistent estimator 

(D) Biased estimator 

(A) @(tgQ'l lD UJ fT6UT ~ GTTQ"JGU 

(B) aurr~LDrT6UT ~~Q'l6U 

(C) ,t£1Q)Q)~~ ~QTQ)Ql 

(D) LSlQ"JWll..JGTrID ~QT61>Ql 

82. Let X1, X2 , .... X,. be a random sample from a uniform population on [o,e], then 

(A) X is ~ sufficient estimator of e 
(B) Xc1> = MinXi is a sufficient estimator of 8 

lSLSn 

~ Xcn> = Max Xi is a sufficient estimator of 8 
lSiSn 

(D) X1 + X2 is a sufficient estimator of 8 

X1 , X 2 , .... Xn ~Gm"~ [0,8]-ru 2..Gi"rm 6f)rr6UT UflGU@lru .@®.lli~ ror@8>e;uul...L &.WJ ror6lITlru 

(A) X 4'ilJT~ () 6\Slm aurr~tu $1im61>LD 2-Q"JLUJ LD~ULJLL6rr61>Ql 

(B) X(l) = L066ll9J Xi 46m'~ () 6\Slm aurr~w $1im61>LD SLQJLUJ LD~ULJLL,-61T61>Ql 
l SiSn 

(C) X(n) = iliuQu® Xi ~Gm'~ () 6flm aurr~LU ~mGW>LD SLGW>LLU LD~ULJLL61TQ)Ql 
J.sisn 
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83. X1, X2 , X3 is random sample drawn from a population with mean µ and \ariaie o-2 and 

T = X 1 + X 2 - X 3 then Tis 

¥ nu unbiatied estimator ofµ 

(B) a biased estimator of µ 

(C) an efficient estimator of µ 

(D) a consistent estimator of µ 

Xp X2 • X3 4m~ µ-Qlru a:l)"rra:rr11LHT6iQ.ti.D 0-2 -re LDrr~u1TL.rr6iQ.tl.b Qa.rr~L ~® Q~®iJuSlru ®®~ 

IOr@.t&uuL..L &.g11 ~L.O. T = x 1 + x 2 - X3 IOT"~ru T ~ar~ 

(A) µ -6l5lm u~ 6rTuJQJrD!D JI>@J£lmQ) LD~ut5L..LmmQJ 

(B) µ -61Sl m u&M s:rrti.JQ.tmLUJ LD~uoL..Lmmru 

(C) µ - 6l51Qi- ~~e;tb ~!D®JEil>LUJ LD~UQLL6TTEil>QJ 

(D) µ GlSlm 61Jrrm IDmmtn ~mLUJ LD~uaL..Lmmru 

84. In s~mpling from N(µ,a2
), the sample mean is 

"1/f( an unbiased and consistent estimator of µ 

(B) a biased and inconsistent estimator ofµ 

(C) an unbiased and inconsistent estimator of µ 

(D) a biased and consistent estimator of µ 

N(µ ,a
2

) @UJru,!blmQ)u u11ru~ru@®fe>~ &.QJD@~~ru. &.~ e11rrenl ..!ti>QT~ 

(A) µ -Gblm uS;s;6 6rTuJ6UrD!D J!i@J£lEi1>Q) LD!i>~L.O 611rrm ~mmLD ~mLUJ LD~ut5Ll-mQJQJ 

(B) µ - EilSlm u.$56 61TWQ.j61>LUJ 61J1T61T IDQrQ)lD @ruQ)ITlb LO~UDLLQTQ)QJ 

(C) µ - EilSlm u.$56 6rrti.Jru!DJD J!i@JblmQ) LD!i>~L.O 611rrm lbarmLO @Q>Q>rrlb LD~ut.SLl-GTQ')QJ 

(D) µ -Gblm u.$.$6 61TuJQjEi1>LUJ LDrDI!)ILD 61JITQT IDQTQ)lO ILQ)LUJ LD~utSL..LmQlQJ 
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85. ~t Tn be an estimator based on sample x1,x2 , •.•••• xn of the parameter B. Then Tn is a 

consistent estimator of B if 

(A) P[T,, 0 >E ] = 0 V' E> 0 

(B) PijTn -Oi<e]=O 

..Jtt) lim P[ I Tn - BI > E ] = 0 
n ~"' 

'v' E> 0 

(D) lim P( Tn - B > E ) = 0 V' E> 0 
n >'-

Tn GTmU§J x 1,x2 , ..•••. xn GT~!D Bfl..[!5lrol@~~ BTL@roJLI4 0-~!i>@i GT@.Sa;uuL.L lD~ut.5'@. Tn 61Jrrm 

~6U"fQ>lD ~Q)LIU U)~UQ@ ~.$@@$.$ aJDr'r,{i>~rrQ> 

(A) P[Tn - B>e]=O 'v' E> Q 

(B) P~Tn -Bl<E)=O 

(C) limP[ITn - Bl >e ) = O V' E> 0 
n )..,. 

(D) lim P( Tn - 0 >E ] = 0 V' E> 0 n-.,,, 

86. For Cauchy's distribution 

(A) sample mean is a consistent estimator 

-IJi/f' sample median is a consistent estimator 

(C) sample mean and sample median are consistent estimators 

(D) sample mean and sample median are not consistent estimators 

<'brr~ UIJ"Q.J@)J.$@) 

(A) 81\.g)! e:l}"rre:nl .@mQ)p;~ lD~ut.5'L.tq.. 

(B) &roJ @6I>L,@Ql6U ,@6Il6U~~ LD~ut5L.tq.. 

(C) snw 8'1]"rre:nl wrt>giilb sngii @mL,@mru ,@mru~~ LD~ut5L.tq..a;Gir 

(D) &1.roJ S:IJrrs=nl lDWQ)ILD snroi @Q)L}£1mru )£1mru~~ LD~ut3L.tq..BiGir @rumru 
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87. For the di::;tribution v (x· 0) = _!_ 0 ::; .x ::; O :l sufficient estimator for 0, ba d on ae mpl • - . {) . 

(A) ~X. In (Il) ~r.x,2 

.fjll{ Max(X X~ ...... X,.) 

1 
f(x;8)=-; O~x::;;O ~~ru XJ>X:?·····Xn-m ~i.q..uu63>LUJITM Q1£rr • L 0 

0 
a~rr17rrUJ LO~uLI 

(A) LY,/n (B) ~,. '\:2 

(C) Max(X1 X2 , •••••.• Xn) (D) i\fin(X1, X2 •••••• Xn) 

88. For a random sample (x1 x 2 ..... xn) from a populat10n N(u,a2
). the maXJmum hkehhood 

estimator of a'" i. 

"'1!ff 1 - 2 
-l:(X, -X) 
n 

(B) -
1
-r(X -X)2 

n - 1 

(C) .!_I:(X, - µ)2 
n 

(D) 1 ? 
-l:{Xi-µ)-
n-1 

~UJru.ffila>Q) QP~a>LO~ 01f>rT®~ l\'(µ,a 2
) uSlrol®Ji>~ Ou!DLiuL...L (x1 x_ ..... xn) 

torr~nle;Qflm. a 2 -JDs;rrQT t.OuQu® Jhla;W ~ITIJrTUJ LO~UL.j 

(A) _!_l:(Xi -Xf 
n 

(B) -
1
-I:(X, 

n-1 
X)2 

(C) _!_L(X, - µ) 2 

n 

(D) 
1 ., 

--r(X, - µ)-
n - 1 
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89. i t is a consistent estimator of 0, then 

(A) t is also a consistent estimator of 02 

(B) , ~ is also a consistent estimator of 0 

Jji1f t2 is also a consistent estimator of 02 

(D) None of the above 

90. For a normal population N(µ,o- 2
), a good estimator for µ is sample mean x, because i t is a 

(A) consistent estimator 

.JJl1f consistent, unbiased and efficient estimator 

(C) efficient estimator 

(D) consistent and unbiased estimator 

N(µ ,o-2
) 6Tm!D @UJru.@~rou ul)QH;Olru, µ 6Tm!D u~uETT~co1.JU51~QT LO~L.n5l@6l.l~!i>® t.Slm6l.l@t..D 

a;rrl)QITT~~Qlrrru. 8'fl.p5lm a:l)rra:ITl x 6lJDsi>fh LO~ut3L.tq- ~®ill 
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91. In test for the varjance of a normal population, for te~ting l/0 : o-2 = a0 agarn t If • u 

the likelihood ratio test is based on ----

(A) left-tailed /-test 

(B) right-tailed l-te~t 

""1f left-tailed ;r2 -test 

(D) right-tailed x2 -test 

C:.Jrr ~u u ~!Da;rrQT Jb)a;1901Sl UJroLJ 61.9 .$lfb C:.Jrr SbQ)QT ---- .Jrrir)i>~mm ~ 

(A) .@L~ @mar t-<:.Jrr~mar 

(B) Q.JQ)~ @mar t-Cerr~mar 

(C) .@L~ QPGl>QT ,r2 -<:.Jrr~Q'JQT 

92. In test for the equality of variances of two normal population::-, for testmg If Ui a-
2 

u 

against H1 : a-~ * ai, the likelihood ratio test is ba~ed on ----

(A) two-tailed t -test 

\lil!f" two-tailed F -test 

(C) two-tailed x2 -test 

(D) two-tailed Z -test 

(A) .@®QPOOaT t -<:.Jrr~ooar 

(B) .@®QPQ>aT F -<:err~Q'IQT 

(C) .@®QPOOm z2 -C:errfbQ'lQT 

(D) ~(!!)(!JlOOaT Z -<:.Jrr~Qlar 
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93. • test for single proportion, for large n, one can apply ----

~ normal test 

(C) F-test 

(A) @UJ!Oi>,ffi)Q'lru asrr~60)60l 

(C) F-Ce-rrff>m~ 

(B) t-test 

(D) ,/-test 

(B) /-C!arr~6Elm 

(D) x 2 -Ca:rr$56Elm 

94. In test of sigmficance for djfference of proportions of two populations, for large samples, one 
can apply----
(A) t-test 

(C) z2 -test 

(B) F-test 

'\lifl!ff' normal test 

@® QP@6ElLD~, GfDrr®~e;rolm 661~!5rG.ie;Grtl6irr 66l~~UJrr6~~6irr uSl6Ele;fi>p;6irrmLD Ca:rr$5Q'lmu5lru. &.ll)Je;m 
Qurflp;rre;@®.$@51.bCurr~ uUJ6irru@~~uu@i..O C6rr>'56El611T----

(A) t-C!6rr~6El60l (B) F-a6rrfh6'6>6'6T 

(C) z2 -C6rr~60)QT (D) @UJioi>,ffi)mru a6rr~Q)6'6[ 

95. In test of significance for single mean, for large samples, one can apply----

(A) z2 -test (B) F -test 

(C) t -test ~ Normal test 

Vl® 61JrT6rflu5l6irr uSIQ'la;P>p;6irrmLD C6rr$5mmu5lru, &.Wf Qurfl!hrre; @®8;@51.b Curr~. uUJ6irru@P>~uu@ i..O 

C6rr~m6'6f ----

(A) x 2 -a6rrfhm6l!T (B) F -asrr~Q)60T 

(C) t -C6rr~m60l (D) @UJru,ffi)Q'lru a~m~Q'l60l 

96. In test of significance for the difference of standard deviations of two populations, for large 
samples, one can use ----

(A) t -test 

'1Ji!'f' Normal test 

(B) x2 -test 

(D) F-test 

@® QP@mLD~ Q!hrr®~s;~m ~L...L 66lruB;s;rG.is;~6irr 66l~~UJrr6~~6irr uSIQ>a;~fD6irrQ)LD G6rr~Q>6l!Tu5lru. &.WJ 
Qunl!hfTSi @®8;@51.baurr~. Vl<§6Ui'r UUJ6irru@~~LO a6fT!hQ)6'6f ~LO. 

(A) t -Ca=rr>'f>Q>60l 

(C) @UJru.ffilQ'lru a6rrp;m60l 
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(B) z 2 -asrrfhm6lrr 

(D) F -G6rr~m6lrr 
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97. For the validity of ;/ - test of goodness of fit, the following con.::tramt on thC' cell fr. 1 n ies 

should be satisfied 

(A) 

.JP( 
LO,> r.E, 

~o _-.;-F - ' - -- ..1, 

(B) 

(D) 

'"'0 '"'" - I <-l!.I 

~O, ~ r.E, 

GurrQ;W G6tbooLO z 2 -Cen~Q'>Em6l~ GiJd,>~ooLe>LM,®· c:9lmi:J j9e;wQQJ · s; 

.@u_ffi~Q'lm -----

(A) 

(C) 

ro, > r.E, (B) ~01 < r.E, 
(D) ~o. ;t; r.E, 

98. For the validity of z2 
- test of goodness of fit, the minimum theoritical cell frequenC) should 

be----

'$ 5 (B) 10 

(C) 30 (D) 50 

Gurr@~6 Qeti>Q>LD z2 -C::Crr~GrJ~uSlm 'IJD4GrlLGrJL08;@). @>Grl!Dfe~uL.e ~C.s 
-----~s;@®M 06U~@tb 

(A) 5 

(C) 30 

(B) 10 

(D) 50 

99. The chi-square and the t-distribution are both----

(A) always symmetrical distributions 

(B) used for hypothesis testing 

(C) dependent on the number of degrees of freedom 

..fllff {B) and (C) but not (A) 

(A) 

(C) 

'1"uCurr~tb lfin6&ir urrQ.Jrus;m (B) 

6iL...~mooto '1"~mrrl~oos;oolU c!frrrrp;~~tb (D) 

Gr@~rrm Cc!frr~mmuSlru uUJQ!u@6J9T!D 

(B) U>JDl.;lltb (C) ..!{bmrrru A) 

100. Chi-square test of goodness of fit was gh·en by whom? 

(A) Prof. RA Fisher ~ Prof. Karl Pearson 

(C) Prof. P.C Mahalanobis (D) Prof. C.R. Rao 

GurrQ5W Gc!ftDQ'lLDSi@)rfllLI Q'l6.i6l.JirM C6rr~mro UJITl]ITW 6UWITila>UULL~? 

(A) Currrr61rfhuir c!'{bfr.GT. iSl~lfir (B) Cul]rr81fi11Uir 6irrirru tSIUJnam 

(C) Curydl.tlUJir tSl.81. 1.0s;rrQ)arrriSlw (D) aul]rrelrtlUJir 6l ~ir 
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101. ,he test statistic in Chi-squa re test of goodness of fit is given by 

,/ = L[(O, -E; )
2 l 

I E, 

(B) i l = I [(O, ~ E, )]2 
I E, 

(C) 

(D) ;/ = L[(O, -E;)] · 
I (0, +E.) 

(A) x2 _ I [(O, -E,)2] 
i Ei 

(B) z2 _ L[(O, -E,)]2 

I E, 

(C) ./ = L[(O; -E,)] 
I E, 

(D) 

102. If 's' is the number of population parameters estimated from the sample observations 

(n in number), then the required n umber of degrees of freedom for z 2 -test of goodness of fit 

is -----when all t he theoretical frequencies are ;;:: 5 . 

(A) (n - 1) 

'1Jil! (n - s - 1) 

(B) (n - s) 

(D) (n-s+J) 

'n' e;6WTL~lUUULL Q.J rTlUULj &g)! l.O~ULjBirolrol®fr>~ 's' ey:>@Q>l.O~ Q~rr®~ u6Wrum-Q>GU8iffi 

LD~ut.S1LuuL.LGfb6ilr!Drrro, ~ruGUrr s;®~as;rrm ...z>JQ>!!) .ffi1a;wGQ.J6Wrs;®t.i:> ;;:: 5 ~a; @®8;®t.Oaurr~. 

Gurr®~~6 G6t.i:>Q)l.O z2 aa:rrfljQ'latuSl6iJr a~Q)Q.JlUrTGM BiLtq-mQ'>LD ~6Wr~8;Q>s; @®8;®Li:>. 

(A) (n- l) 

(C) (n- s 1) 
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(B) (n-s) 

(D) (n -s+ l ) 
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103. If the ::;ample size n is small. to test the significance of the difference bet,-.een hrn . mpl 
means, which test is used'? 

(A) normal test 

(C) F-test 

~ t-te_t 

(D) ,/-te .... t 

QJllu'..Ju4 Bng)! ~roQ.j n 61.(b'l,,lle; ~®~ii> Gull~. ©® QJlluJLILt 6n. e;Gfilro 6 

uSIQ>a;1b~Qi-a>wa>UJ Cell~ffia; {;l"Jb~ Cell~Q'lm uUJaru@Sil!D~? 

(A) @UJEl\>.(9a>ru C~m~"'m (B) t-C6r.~a>m 

(C) F-C6rr~mm (D) z2 --06rr~m 

104. If the sample size n is small, to test the significance of an observed multiple correlation 
coefficient, which test is used? 

(A) z2 -test 

(C) . normal test 

\IJllf F-te~t 

(D) Z test 

QlrTuJU4 sng» .!>{QTQ.j n .fl!!Sl~rrs; @®.$@lib Gull@~· ~® a;aiGTL!!SlUJUULL urutnrri:6) ~-· .,,..., ........ Q @6!51m 
uSlm~Qi-mLDQ'IUJ Ce-rr~.ia; c;rQ-rm Cerr~Qlm uUJmu@SilJD~? 

(A) X2 -Cerr~a>m 

(C) @UJruJ£lmru C:Srr~m 

105. In likelihood ratio test, - 2 loge J.. has 

(A) asymptotic t-distribution 

(B) asymptotic F-distribution 

~ asymptotic ,/-distribution 

(D) asymptotic normal distribution 

(B) F-CJJrr ,,Qlm 

(D) Z--<:6rr fi>mm 

ibJa;wE>"61UJEl\>4 EilS!Sil~ C:Srr~QlmuSlru - 2 loge)~ Ga;rraiGT~&®tb ul]ruru 

(A) .£Gr<:urr.9i® t-ugruru 

(B) Jtm<:urrS.@) F-ul]QJID 

(C) jbm<:urr.$® z2 -ul)"QJru 

(D) .£m<:urr8i@> ~UJruurrm Ul]QJID 
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106. . every hypothesis testing problem, wruch type of error is always present? 

(A) Type I error only 

(B) Type II error only 

-IJilf Both Type I and Type II errors 

(D) Neither Type I nor Type II error 

(A) C!Pfliro 6l.JQ)8j L51"6lw LDL...@i.0 

(B) @JJ~LITLD Gl.JQla; t.SlQ)W tnL..@i.D 

(C) QP$5ro 6l.J"6)8j L51"6lw LDlDglJLD .@IJ~LITLD 6l.JQ)8j i51mw .@IJ~@al..D .@®d;@)LD 

(D) QP$5'1> Gl.Jma; t51m~ L.OdJglli.D .@IJ~Lrri.0 6l.J"6J8j i51m~ .@JJ~@aLD .@®B;a;rr~ 

107. Given a random sample X1,X2 ,.··,Xn from 

f(x;B)= tk-8.l:;x > 0. 

For testing H0 : B = 80 against H1 : () * B0 , which of the following test exists? 

(A) MP test and no UMP test 

(C) Both MP test and UMP test 

(B) UMP test and no MP test 

..JI!!! No MP test and no UMP test 

f(x;B) = tk-t«;x ~ 0 

Gr6NJD Ul)Gl.J6l516l51(!9.ffi~ 6r@.$a;uuL..L~. H 0 : B = B0 .$@> Gr~grra; H 1 : 0 * 00 -re as=rrfb!uup;!D@> £~ :2_GTI"ro 

6TJbtf> ae:rrtf>Q)6l!T .@®ffiBi1n:i~? 

(A) uSla;~~JD6N 6l.JITuJ[fi$5 ae:rrffj"6l6l!T .@(!9.$8iln:>~ 6grr61Sf uSla;~~JD6N QlrruJ[fi$5 ae:rr~"6l61Sf .@roooru 

(B) 61JIT6'6T uSJa;~~JD6N QlrTuJfefti a61Tffj"6l61Sf 12-Qrffi~. u5l~!J)6N a6ITfbQ>6l!T .@@mru 

(C) u5la;~~n:>6N ae:rr$5Q'l61ST LDlDglJLD 61)IT6l!T u5la;p;~n:i6N ae:rrfb6'5l6'6T .@g~@al..D ll.GTI"m~ 

(D) u5la;~~n:>6N ae:rrffjQ'J61Sf LDlDglJLD 61)IT6l!T u5ls;~~!D6N ae:rrfb6'5l6lSr .@JJ~@al..D .@roooru 

41 ACFST 
[Turn over 



10 . L<:t p be the probability that n coin will fall head in a :-;ingle to" . In ord r to tc t 1• p 
1 

2 

ngain::;t H1 : p = ~ , the coin is tossed 5 time~. ll0 i:, rejected if more th 
·1 

obtained. Fmrl the probability a of type I error and PO\\ er l - P of the te t 

(A) 
3 ·17 

(B) 
6 81 

a=- and 1-P=- a=- and 1-P 
128 16 128 16 

.Jl1f 3 81 
(])) 

6 47 
a=- and 1-P=- a=- and 1-/3 

12 16 128 16 

H1 : p = 3 m ~rr/Juu~jj}.srre; 9® JbITG:iOTUJtD ~@ (lj>Ql!!) ~w:iu@6)!!>~· (!P • 
4 

ru~p:,rrru //0 Jf;117rra;tlMuu@1b. @thru QJroa; t51Gfl~uSlei'i J9s~~ a LO iD 
a;~@t.Shq.MQj iD 

( A) 3 . . 1 p 47 
n a = - LD!!)g)lt.O - = -

16 128 
(B) a = ~ t.0!!> iD l - p = - 1 

16 12 

(C) 3 . . 1 p 81 a=- lD!Df;VlO - =-
16 128 

(D) 6 . . 1 p 41 a=- lOµ)IPJLO - --
16 128 

109. Given the density function 

{

l 
f(x; 0) = 0, 0 !!> x $ 0 

0, otherwise 

1 p 

{x 11sxs1.5} is the critical region for te::,ting H0 : 0=1 agam t H 1 : 0- 2 Fmd the lev l a 

and power 1 - P of the test. 

(A) a=O and l-P=0.75 

(C) a=0.25 and l-P=0.75 

f(x;O)~{~· Osxs8 
o, t.Sl!D w~u4e;Glflru 

~ a=O and l-P=0.25 

(D) a= 0.25 and 1- p = 0 25 

~a-rw Gs:J6l~ s:rrrr4 Qa;rr@.$8;uuL...@mm~ II0 : O = 1 .$<§ '1'~1]rr<!S /J1 : O = 2 m <:6 
~cir!D ~rr~e:.L..L G6l.lffi'I Qa;rr@B:.e;uuL...@rorn~. ~sbff> ~p:,e>GSruSIQ-r tnL...Lll> a 
1- p roQJ1.4tl> a;~@tSlt.q .. 

(A) a= o w!Dg11w 1- /3 = 0.75 

(C) a= 0.25 lDJDglltD 1- p = 0.75 

ACFST 42 

(B) a = O lDWID!ili 1 - P 0 25 

(0) a= 0.25 LOJD~W l - /) 0 25 

x 11<xs1.5} 
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110. . iven the density function 

{

l 
f (x: e) = e, o s x s e 

0, elsewhere 

We reject H0 : e = 1 and accept H1 : 0 = 2 when the observed value x 2: 0.5 . Find the 

probability of type I error, a and the probability of type II error, f3 . 

(A) a = 0.25 and f3 = 0.5 

(C) a = 0.25 and p = 0.25 

f (x; e) = { ! ' 0 s x s B 
0, i.S)!D LD~UL.js;rolQ) 

\Jli!lf' a - 0.5 and /3 = 0.25 

(D) a = 0.5 and /3 = 0.5 

~Qr!!) Qu!fil6l.J 6rTrTL.j Qa;rr@d;a;uuL...@Gi"rliTT~ . a;61ilrrLrf>IJi'>tri lD~LILj X ~ 0.5 ~a; .@®ffi@>tb aurr~ JDrTtb 

l-10 : e = 1 re J£!1Jrra;ITI~~ H1 : e = 2 re ~!Dwi8iGa;rrGira6l.lrrtb ey>~Gi> 61.JQ>a; L5la>wt6lm J&la>~fb8i6l.J a 006Uu.jtb 

.@fl61ilrrL rrtb 6l.Jooa; tSlQ)wuSlm )£la;~~c$6l.J /3 m6Uu.itb a;61iirr@L5l~ 

(A) a = 0.25 LD!f;ll)Jtb f3 = 0.5 

(C) a = 0.25 LD!DIDJtb f3 = 0.25 

111. Fundamental assumption of' F ' test are not 

(A) that the population is abnormal 

(B) a ::;: 0.5 LD!Dgittb p = 0.25 

(D) a = 0.5 lDlDIDJtb j3 = 0.5 

~ that observations are independent and the samples drawn are random samples 

(C) that there is no measu rement error 

(D) that known as variance ratio test 

'F ' aurr~Q'>QT u!D!filUJ ~~UUQ)L .@ruQ)rT ~®fLDrTQTtD 

(A) LDffia;Gi"r ~a>LDu4 81Jrra; .@ruQ)rr6'61~ru 

(B) a;Qafh.J4 tridlwrra;6l.Jtb, LDrr~illa;Gi"r .@a;w LDrr~filUJrra; ~@d;a;uuL...Lrrru 

(C) ~liTT6'61ro L5la>w .@roQ)rr~®.rb~rrai 

(D) LDrTWtUUrTL@ 661~~~ a~rrQJrra; .@®.ffi~rrru 

112. CSO stands for 

(A) 

.Jl1f 
Census Statistical Organisation 

Central Statistical Organisation 

6l~Q\>~~mu~ 

(A) ®@a;~u4 46TrroluSlUJru JBllPl6l.l~tb 

(C) LD~~UJ 46TrroluSlwai JB1w6U~tb 

43 

(B) Common Statistical Office 

(D) Census Statistical Office 

(B) Qurr~ 46TrroluSlUJru ~W6UQ)a;tb 

(D) ®@c$~u4 46TrroluSlUJru ~w6lJQ)c$tD 
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113. Which of the following is not probability ~ampling? 

(A) Stratified Sampling (Il) Sy .... tcmntic Sampling 

(G) Clu,ter Sampling ~ Quota Sampling 

£wa;rmLruif>wro '1"§1,!hl5wfb6i~ &i.Q!D@~!bru .5iroru7 

(A) u@61>8i &i.G!D@~SliOO (B) Sl@ri.i(§ 6'1.G!!>@~ru 

(C) ~gm 6$!.Q.!D@~!b<i> (D) fY~Ml..@ &i.G!D@~ 

11-1. Identify the demerit of simple random sampling. 

(.\) 

(B) . 
(C) 

.Jill( 

There is le.'iS chance for personal bia 

!\lore repre~entative 

Sampling error can be measured 

This requires a complete list of the population 

urr fbITflQllST ru rrli.J u 4 BAg)I (!PW!!J uSl ~ @>W!DrnUJ ®!DJ u 19@ 

(A) ~~UULL tSlJDU!iffil.$® QJrTuJUL.j ~m!D~ 

(B) ~~a; tS11J~Jb1~t>~€ULb fLQlLlUg)I 

(C) LDrri)rfl (!PW!D 6rrfr]b{b i9wwmUJ .5imdi1Lrumi> 

(D) ey>@mLO~ Q!brr<§/JuSlm <Y>Q9 ul..tq.UJG>@!b!i><§ ~mruuu@£;v~ 

115. Identify the demerit of cluster sampling 

(A) It introduces flexibility in the sampling method 

(B) It is helpful in large-scale survey where the preparation of list is difficult 

.,,vtf It is less accurate than other methods 

(D) It is valuable in countries where no accurate framework is available 

~rrar u>rr~ifl ~C!J>m!Du5lar <§6t>!DmUJ ®!61ut9@ 

(A) anG!D@~Q> QPa>!!JuSlQ> @~ri.i(§tb !barQ>LDa>UJ ~!61QP.suu@~&l!!>~ 

(B) c91~e; c91m~ ~s:rrrrQ)~uSloo ul...11t-UJru jbUJrrOl~Q> .s11t-00U>rra; .@~®lb Gurr 

2....QrQT~ 

(C) @©J LDd>!D QP61>!!)6iGW>m ~L (§Q'l!!l~~ ~Q}ro1UJLOrrm~ 

(D) ©JQi'61lULOrTGJT /JL.LuSlLL QJr)LDL.j @rururr!b .mrr@6irolru @§1.!94,/)II> UUJ@!QrOTp-irTlfi 
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1 lG . • Identify the non - essentials of sampling 

(A) It must be representative 

...Ji1ff' Snmy1le size should be infinite 

(C) Selected samples from the universe should have similar nature 

(D) A good number of items are to be included in the sample 

tnrr~ITl Bin.G!D@ft!bai QP6').rou9m ~~fblu.irrGl.JfilUJLDJD!Dg)QJ 6TGW>Gl.l? 

(A) II>roru i.Slr;r~]fil~u.irra;@®~!DQ.i aGl.l~@Li:l 

(B) LDrr~ITlu9m ~e161.j QPtq..QS'loSllUrTBi .@Q!).$$ (]ru~@ill 

(C) QP@G11LD~ Q~rr®~~oSl®.ffi~ 6T@8;e;uul...L LDrr~illa;m fj>~fb ~~6')LDlljmL1Ufbrra;@®8;a; GGll~@ill 

(D) tnrrp;lITlu9ro Ca:rr8>a;uu@Li:l L(!r>Liutq..l£Giflm GT~~B;~a; ~® JVroru 6T~~.S~a;u.irra; @®B>a; 

C6\J~@Li:l 

117. \\'nich of the following is not non-probability sampling? 

(A) Purposive Sampling (B) Quota Sampling 

(C) Convenience Sampling ..fJJi' Stratified Sampling 

£wa;~LruJi>IDJffi bf~ Jb18iWfb8i6\JlD!D Bin.Q!D@~fbro ~ruro? 

(A) Cp;rr.$a;QPffi"1T sn.GJD@~fbru (B) ~~.S&L...@ Bfl.GJD@~1firu 

(C) Q.Ja:~ Bfl.QJD@~~ru (D) u@6')a; 8$i.GJD@~fb6U 

118. \Vhich of the following is not an advantage of LSD? 

(A) LSD is an incomplete 3-way layout 

(B) The statistical analysis is simple 

(C) More than one factor can be investigated simultaneously 

.,/J/f( The assumption that the factors act independently may not be true 

£wa;~L6l..l!i.>IDJffi GT~ @ro~P,m Q.JrrB;a; ~L.L~~m J!>mbf)LD ~ruru? 

(A) .@Q)~P,m 6UrTM ~LLL.OITQT~, QP@G11l.DlU6J>LlUIT~ ('.!PmWJ 6UW1 ~LLLD 

(B) LjcirGlflu91Uru U@)UUITuJGl.j 6TGITl"61LDUJITlljWGIT~ 

(C) ~mIDJe;® CLD!DuL.L a;rrr;r~a;mQT fj>Gr;r a.mr.r~~ru ~r;rrrUJ QPtq..lllt.D 

(D) .srrr;r~a;ar a=rr1JrrLDru .@UJffii®.$l!D~ 6Tm!D <:&t@lLDrrmrf.la;m ~aior"61LDUJrra;@ruQ)rrLDru .@®B;a;Q>rrt.b 
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119. Which of the following is not an acl\'antage of RBD? 

(A) Accuracy 

(B) Flexibility 

(C) Ea. e of analy~is 

..,fJllf ~ot !>Uitable for large number of treatments 

£~'1iaTL6UJDg)ID ~~ ~~Q)6UJrrMUULL s;L..@~LL~~~ ~WQ>LO ~ruru? 

(A) ~ruQ)JUJ ~mQlLO 

(B) @Q55T6;s; ~mootn 

(C) c:rmlooLOUJrTEWi U@)LIUrTuJ~ 

(D) ~IT$b61H>GT Gurr®Gi'ra;Qfl~ ~'1iar~6;ooe; c-91~s;LOrruSlQ!>&@)t.b Curr~. @@ Qu 
c-9jQJQ) 

• 

LO 

120. The efficiency of an RBD relative to CRD for the same experiment i gn en by -----

(A) 

(B) 

(D) 

E _ (rt -1)s;: 
r(t -1).s~ + (r - l)s~ 

E = (rt -l)si 
f(r - l)s~ T (f - l)s1 

E _ r(t - l)s~ + (r - l)s~ 
(rt -l)s~ 

E = t(r - l)s~ + (t - l)s1 
(rt - l)s~ 

~Cg Csrr~ooQT6.@), QPQ96'>LDllJIT8i ~~6UJITMUULL l)L..LP,~@ @ @t.b Curr~ . 

~6aia:llJrrMuuL..L e;L..@~L..L~m /J!Dm GTmu~ c:!i!>®t.b 

(A) E = (rt - l)s~ 
r(t - l)si; + (r - l)s~ 

(B) E = (rt -l)s~ 
t(r - l)s~ + (t - l)s~ 

(C) 

(D) 

ACFST 

E = r(t - l)s~ + (r - l)s~ 
(rt l)s1 

E = t(r-l)s~ + (t-l)s~ 
(rt -l)s~ 
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121. 4'e inherent variability in the experimental material to which treatments are applied is 
called as------

~ Experimental error (B) Design error 

(C) Standard error (D) Treatment error 

a~mfliGDmU Gurr@W .@Luu@41JD aa:rTf1jQ')m ~(§UU1q-B;61flm .@UJ!i>ms;UJrrm LDrTJDJUrT@s;w 6rm!J)I 

~tm~B;e;uu@6l.Jf91 

(A) a<mfbQ')m t5lmw (B) ~GflLDLil...j ~L..Lu L516fl~ 

(C) ~LLLI t51GD~ (D) aa:rrflimGm Gurr@m t.Sl~~ 

122. Which principle is used to average out the influence of the chance factors on different 
experimental units? 

't/Jlf Replication (B) Randomization 

(C) Local control (D) (B) and (C) but not (A) 

uruaQJwi aa:rTfliQ')Ql GflirT@jUL.j8is;ffilm LE~ ~~8;s;t.b Q.g:W~fli8>~lq-UJ QJrTuJUL.j B;rTIJ'~8>6'G'>GTT 

8'1JrT6rflUJrr8>@j6l.JfliJD@j UUJmu@t.b J@U.JLDt.b 61"WU~ 

(A) ~@t.bu5 Qa:tiJp;ro (B) "1"G~Q')a:UJrr8;®p;ro 

(C) ~ro s;L..@uurr@ (D) (B) tn!i>l!)lt.b (C) ~mrrro (A) c!>!Wro 

123. Analysis of variance of two-way classified data is analogous to analysis of variance of which 

design? 

(A) CRD \ll!ff RBD 

(C) LSD (D) Greeko LSD 

@@ QI~ U@jd;a;uuL..L QS16l.Jry~~m lDrTg)JUrTL@U U@)LIUrTuJ~ £~B>~L ~fr>fli ~LL~~~ LDrT!J)IUrTL@U 

U@)UUrTuJ~8i@i .@m~UJrrs; ~WGTT~? 

(A) ey>@mLDU.Jrrs; ~ap;~a:U.Jrr8>e;uuL.L ~L.Lt.b (B) ~~a:U.Jrr8ie;uuL.L s;L.@~ ~L.Lt.b 
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124. In one-way classification, if .S observations are classified into h cla::.ses, then the 
freedom as::;ociated \\'Ith treatment sum of squares will be----

(.\) 

¥ 
S - 1 

k-l 

(B) 

(D) 

.V -k 

re of 

~@QJ~ U®U4 (lpG>!!)uSlW, x a;~L!DlUJUULL tD~u4a;cir, k QJ@jULja;cilru 61)6i. u@ QJ 

C:crn~Gflmu Qurr(!9"1fl6Br QJrr8ia;ri.Je;"1flm 8'1.@~CQJrr@ Q~rrLrr4a>uu s;L_ttr-EifG>LO ca.~ -----

(A) N -1 (B) /\' -k 

(C) k - l (D) N - k - l 

125. Which principle is used in the allocation of treatments to experimental urn ts? 

(A) Replication 

.,llfff' Randomization 

(C) Local control 

(D) (A) and (C) but not (B) 

G6:rr~Q'l6M Q~rr®u4a;~.$(§. C:urrp>Q'>QT Qurr(!9cira>mm S>~M@ Guu:irulb!D® uUJ~u@tb jf;IUJLDW COT§!? 

(A) ~®wuB: GCFti.J~ro 

(B) ~~CFUJIT.$(§~W 

(C) tLm a;L.@uurr@ 

(D) (A) w!iJ!l)ltb (C) ~mrrro (B) ~ruQ) 

126. The empirical relationship between the plot size and the plot variance is known as ---

(A) Fisher's variance law 

(B) Yate's variance law 

(C) Das and Giri variance law 

\IJil'f Fairfield Smith's variance law 

LD6B>QT Q~IT®~uSlm c:!>lffiQj LDlDgJILD l06B>QT Q~rT®~uSlm LOITg)UITl:_LQTQ>QJ ~UJaJ!Dtfilm @a>LC:UJUJITQT 

ULL!DJQ:Pal!D Q~rrLir4 cormu~ 

(A) t.Sl~film LOIT!lJIUITLLffiQ>QJ "61~ 

(B) C:UJLW LOITgJIUITLLQTQ>QJ "61~ 

(C) ~rr<;iu LDtD!l)ILD i)rfl LOITgJIUITLLGTTQ>QJ ~~ 

(D) C:ufrt.Slro@ wuSl~ LOIT!J)IUITLLQTQ)QJ ~~ 
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127 .• The least significant difference at the given level of significance is known as-----

..fJlf Critical Difference (B) Mean Difference 

(C) Standard Difference (D) Absolute Difference 

G.srr@6ia;uu~L L6l6W><!b~~6irrQ) l!l l!lLL~fh)ru ~mQ'T i..566l!J)! L6l Q)$~)'56irr Q) l!l 

GTm!Pf ~,IDiUJuu@.9ilm!D~ 

(A) ~ rT6l.j 8i LL l!l IT QT 6lSl ~fh) lLl IT <'f LQ (B) <'flJ"IT<'frfl 6fil~~tUrra=t.o 

(C) ~LL GlSlPJfhJUJrra:i..0 (D) ~~UJIT6al 6lSlPJfhJUJrr6Lb 

128. Let TSS = Total Sum of Squares 

SST = Sum of Squares due to Treatment 

SSV =Sum of Squares due to Variety 

SSE = Sum of Squares due to Error 

In analysis of variance for CRD, identify the correct equation. 

(A) TSS =SSE 

(C) TSS = SSE + SST + SSV 

~ TSS =SSE+ SST 

(D) TSS = SST + SSV 

6lSl ~fh) UJ rr a=tb GT6iJTU~ 

Qfl@Q'll!ltUrrm IOTG~#6W>a:tUrr6ia;uuLL ~LLJ5~6irr l!lrrIDJurn: .. @u u@>uurrtLiGlSlru QJfl~~tU srfltUrrm 

stDmurr@ "'"~? 

(A) TSS =SSE 

(C) TSS = SSE + SST + SSV 
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(B) TSS = SSE + SST 

(D) TSS = SST + SSV 
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129. Let TSS =Total Sum of Squares 

SST= Sum of Squares due to Treatment 

SSB = Sum of Squares due to Blocks 

SSE = Sum of Squares due to Error 

In RBD, wluch of the followmg equation is correct? 

(A) TSS = SSE + SST 

..Iliff TSS = SSE + SST + SSB 

(C) TSS = SSE + SSB 

(D) TSS = SST + SSB 

TSS = QJITM snL...L'61Ein QLDrr~Li:> 

SST = C6rrf1iQ>E;1ru QurremlGJTrrru QJIJ.$6n.~tu QJrr~Ein 8'1.LLru 

SSB = a;L...@a;rolGJTrrru QJIJ.9;&.~UJ QJirti;a;~Ein &.L...Lru 

SSE= tSlg,wuSJGJTrrru QJJJ.$6n.~tu QJrr~Ein &.L...Lru 

(A) TSS = SSE + SST 

(B) TSS = SSE + SST + SSB 

(C) TSS = SSE + SSB 

(D) TSS = SST + SSB 

• 

130. Analysis of variance is based upon a comparison of two estimates of the ------

\Jiff' Vanance of the overall population that contains all sample-

(B) Mean of the overall population that contains all samples 

(C) Mean deviation of the overall population that contains all sample 

(D) Range of the overall population that contains all samples 

@® tn~uo@&>allEin ~uo@a;G_r a;rr~up;!Da;rrm tnrr~urrL...@ u®uurrt.U~ 6rrrr~mm~ 

(A) '1'WQ>rT 8in.~a>mml1.jtb tLQrQTL&&ltu QlDrr~ QP@a>lD~QflirT@j~uSlEill tnlTJJ;lUITLLQTQ>QJ 

(B) '1'ruQ>rr an.~&>mml1.jti> tL6irmL8i£UJ Qtnrr~15 @@QllD~Qffirr®~uSlm s:vrr66l 

(C) '1'ruQ>rr &.~a;gimu..iti> ~mmL.$£tu Qtnrr~ @@QllD~Q$lirr®~uSlQ: 61}"1T6tft Qi'IQ>.$a>t0 

(D) '1'WQ)IT &l.~<'f>Q)Qlll..jtb ~QrQTL.$£tu QlDrr~p; QP@6f>lD~Q$filT@j~uSlm Q)ff, 
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131. 

132. 

ewe have 1arge enour 6am . 

w1l AN6VA OOsting? ~ ~ l~~J f ~ ~~~ ~!!!1LLL1 the as . 
'1/lff Th sumpt10ns associated 

e samples are drawn from a no I 
(B) rma Population 

Each population has the same va . 
(c riance 

) Both (A) and (B) 

(D) None of the above 

(A) 861.Wf8>ro ~@ ~lWWJ!>lbe"'" ~ ., -

(B) ~QiQQ.HT(!!> QP@~mo~G~rr®~8;®tb viCir LDrTg)!UrTLL61l~Q.J ~mm~ 

(C) (A) LDW!l)ILD (B) @11EM!'@CLD 

(D) C:IDJD861.JD1UJ ~~~LD ~Q)Q) 

-----is used to test the quality of batches of components. 

(A) 

""" (C) 

Control Charts 

Acceptance Sampling 

Both (A) and (B) 

(D) Neither (A) nor (B) 

t2....ufil Qurr®ffi' ®6lSlwrus:;ffi\Q-r ~rJ~m~ C:S:rr~m~uSIL t2....~~QJ~ -----c::!ltb@)LD. 

(A) ..,;L..@uurr@ Ql6flrJULLD 

(B) GJ!i>~~ 861.ll)IQP{il)!D 

(C) (A) IDJDgllLD (B) .@11Eio'r@Lb 

(D) (A) c!)!QlQ) LDJDgllLD (B) ~Q)Q) 

133. Control Charts for monitoring the proportion of items in a batch that meet specifications are 
called-----

"1!(f p-Chart 

(C) X -Chart 

(B) np-Chart 

(D) R-Chart 

~® @)6:1SlwQSlru ®!Dlut.S@..,;mm s:~~S;..,;~tirtu Gurr®L..s;ffilQ-r QSl~~~m~ s;Eio'rs;rrQRl'flS;..,; ~~~Lb 

s;L..@uurr@ QlmguLLb ~~ c!)j{il)wB>s;uu@~Q-r!D~ · 

(A) p-QJ6flrJULLD 

(C) X -QJQ>rJULLD 

51 

(B) np-Q.JmrJULLD 

(D) R-QJ6flrJUL LD 
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134. Control Charts for monitoring process variability are known as----

(A) X -Chart 

(C) p-Chart 

\Jii!ff R-Chart 

(D) np-Chart 

• 
2-JDU~~ Qa:UJQ>rr.$a;~$51m LDrrwurrl...11t-mm 6)~s;rr~Si6> 2..~~tb s;l...@uurr@ rum11uub -----

6T~ ~!!SlUJuu@itlmw~ . 

(A) X -QJQ'HJULtD 

(C) p--Qla>flULLD 

135. Producer's risk means-----

(B) R-Q.la>IJULtD 

(D) nJ>-QJ'1ll)ULtb 

(A) The chance that a good lot will be accepted 
..//!If The chance that a good lot will be rejected 

(C) The chance that a bad lot will be accepted 

(D) The chance that a bad lot will be rejected 

SL!i>u~~UJrrmtftm @i_irurr@ Grmup;Eiir Gurr®m -----4@jtb. 

(A) 9® p>Q>Q> @;60lUJQ} 'J'JD&uu@QlpjJDc'filTQJJ QJrriUu4 

(B) ~® .(DQJQ) ®61SIUJru fbl11rra;ill8i6>uu@ru~Jb6irrm QJrrl!Ju4 

(C) ~® Qs;l...L @;GlSlUJQ} bJlDc'liLIU@QJ~!i>a;rrm QJITuJUL.j 

(D) V!® Qs;L...L @;60llUQ> ~IJITc$rrl.$.$uu@QlpjJDc$1TQJJ QJITtUU4 

136. Merits of sampling survey do not include 

(A) less costly 

~ less time consuming 

(C) reliable results 

(D) inclusive of all items of the study 

Bf\.~ e:;Em8;Qe:;@uu~m JO!D®Emri.Ja;Gir 12....L...Qa;rrmmrrp;§J 

(A) ®'1>JD.{bp; Q6Q)~ 

(B) ®a>!DJb~ C:JOIJLD 

(C) 10t.0ua;L.Drrm QPllt-~a;ro 

(D) ~ti..JGlSlm "1''1i>Q)rr ~ri.Js;ri.J.smm~tb ruiirmL~UJ§J 
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137. ' process exhibiting outliers on a control chart, or showing nonrandom patterns even 

though there are no outliers is said to be in------

~ Out-of-control 

(B) Statistical control 

(C) Probability control 

(D) Production control 

~® f2....d,>U~~ (IP66l!D ~® 8iL@Liurr@ 6l..J66lfJUL~~ro. GTro66lQ) 8iLJb~ lD~Ul..j8i66lGIT 8irTLt.q..61llrraQJrr, ~Q)Q)~ 

GTro66lQ) 8iLJb~ lD~Ul..j8iGTr @rororrQ.Sll..Lrrwi.O GTa~66l6UJW!D aurr.$66>8.i 8irTLt.q..mrraQ)rr ~Jb~ f2....JDU~~ QP66l!D 

GTUUlq.lUrT8i@@Bi®i.b? 

138. Acceptable Quality Level (AQL) mean-----

~ The maximum number of defective pieces in a good lot 

(B) The maximum number of defective pieces in a bad lot 

(C) The maximum number of non-defective pieces in a good lot 

(D) The maximum number of non-defective pieces in a bad lot 
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139. A graph showing the probability on acceptance sampling scheme will accept a b. h as a 
function of the input quality of the batch is called-----

(A) Acceptable Quality Level (AQL) curve 

(B) Average Outgoing Quality (AOQ) curve 

(C) Lot Tolerance Percent Defective (LTPD) curve 

~ Operating Characteristic (OC) curve 

~® ~!i>~~e;s; &.gv&mJD ~® ®6lS'lUJaiQ) GJJi>gv8iGs;rrmQJ~!Ds;rrm Jb!s;w~c$Q)QJ, ~® ®66'1UJ~ar ~mru@tb 

~IJ~Qr lflTrTUIT8i s;rrL.@Li:> QJQ)IJUL~~Qr QuUJfr -----

(A) ']"jf}Bi~@jl.i:> ~fJ#Jfiist LDLLLi:> (AQL) QJ61lfJULLi:> 

(B) lflJ"ITlfifl G6l.HitflCUJ,g;vl.i:> ~!JU:i (AOQ) QJQ>l]ULtD 

(C) @)6l5!1U~ru Gurril)I~ Qs;rrGi'Tt.§tb LI(!;g~Gi'T6TT Gurr@L.s;Qf\fiisJ 661@8;a;rr@ (L TPD) QJEiB>l'JULtb 

(D) @j~rfils;rrl..~ QJQ>GrTQJQ>fJ 

140. Which of the following limits is not associated with control charts? 

(A) Tolerance limits 

(C) Control limits 

(A) GurrgvmLD gQig,Q>s;Gir 

(C) s;L.@uurr@ gQimQ>a;m 

141. AOQ stands for-----

(A) Approximate Outgoing Quality 

(C) Approximate Optimal Quality 

~ QQJrr £11..1 ~fiisJu~ ~"'~ ®!618i£g>~? 

(A) ~ITl]ITUJ QQJQflCIUg»itD ~fJLi:> 

(C) ~ITIJITIU G6tDQ>LD ~'lib 
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(B) Specification limits 

~ Average limits 

(B) ®!6lui5@ gromQ)a;m 

(D) lfl}"ITlfrfl gQ)Q>Q)B;Qr 

(B) Average Operating Quality 

.Jl!/f" Average Outgoing Quality 

(B) lflJ"ITlfill G6UJQ)1T!f>J;Pll.i:> ~l]tb 

(D) lflJITlfOl QQJQf\CIUg»itb tblJLD 



142. 9'fhen a production process is affected by chance causes alone, then the process is said to be 

143. 

m------

(A) Production control (B) Quality control 

VJil'I' Statistical control (D) Technology control 

~® ~!Du~ QPmJD QJrruJuLJ a;rrfJ611CTri.Ja;"1Trrbi> LDl....@Li> urr~B;a;uu@tb ~urr@. ~~~ (!:PQ>JD -----­

~m ~br>198ia;uu@.$lm!D~· 

(A) ~r.i>uP,~ a;L...@uurr@ (B) ~rr.9> <!bL...@uurr@ 

(C) L.JmG!fluShuru a;l....@uurr@ (D) G~rrWlbi>!9JL..u a;L..@uurr@ 

Number of defective chart is also known as ------

(A) p-chart ~ 

(C) C-chart (D) 

np-chart 

X-chart 

®m!D l4mLUJml@J r.DJDlm ~ai1m;15~fl.9>ma; 6Ubr>fTULt.0 ------ ~mQj t.D ~JDl UJu u@itlm!D~· 

(B) np- IOUQ)IJULLD 

(C) C- Qlbr>IJULLD (D) X - Qlml}ULLD 

144. Control Chart is also known as------

(A) Fisher chart 

(C) Duncan chart 

(B) Yates chart 

\IJill'f' Shewhart chart 

a;L...@uurr@ rumiruLt.0 ------ ~mQjt.O ~JDlUJuu@.$lmJD~. 

(B) ~L..oo ruml}ULLD 
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145. Consumer's risk means------

(A) The chance that a 'bad' lot will be rejected 

~ The chance that a 'bad' lot will be accepted 

(C) The chance that a 'good' lot will be rejected 

(D) The chance that a 'good' lot will be accepted 

!9J.!&irCQJrrtflm ~Ll'rurr@ 6Tmu~m Qurr@m------~tb. 

(A) • Qa;L.L @)GlSlUJQ> Jb)1Jrra;tfl8i.$uu@ru~Ji>a;rr~ QJrr\lJu4 

(B) Qs;L.L ®61SlUJQ> 'l!Da;uu@QJ~!f>a;rrQT QJmUu4 

(C) _!bQ)Q) ®61SlUJQ> JB!grra;tflB;a;uu@QJ~!Ds;rrQT QJrrlLiuy 

{D) ,!bQlQ) @)GlSlUJQ) 'J"Ji>6>uU@QJp)JD<$1TQT QJITuJLI4 

146. Mean chart is also known as-----­

(A) R-ehart 

(C) np--<:hart 

(B) p--ehart 

..li'Jf X -chart 

61JIT6ifl QJQ'll]ULtD 6TQTU~ ------ 6fQT~tO ~r6lUJuu@£m!D~· 

(A) R-QJQ'll]ULtD (B) p- QJQ')l]ULtD 

(C) np- QJQllJ'ULtD (D) X - QJQ>IJULLD 

147. Range chart is also known as-----­

(A) p--ehart 

(C) X -ehart 

(B) np--<:hart 

~ R-ehart 

61)66; "'"Q)Q')Q) QJQ')l]ULtb ------ 6T~~tb ~!&UJuu@.i1m!D~· 

(A) p- QJQ'll]ULtD (B) np- QJQ>IJULtD 

(C) X - QJQllJULtD (D) R-QJa>l]ULtD 
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148. raction defective chart is also known as------

(A) X -<!hart 

~ p-<!hart 

(B) R-<!hart 

(D) np-<!hart 

t5lmmt.i:> @iQ'lJ!)lJ..lmLtu QJQ'll}'"ULt.i:> ------GTm~t.i:> ~!DJUJuu@.$16i!TfD~ · 

(A) X - 6llQH}"ULtD (B) R-QJQ)l}'"ULtD 

(C) p- QJQ>f)ULtD (D) np- 6'1.JQlf)ULtD 

149. An OC curve can be used to determine ------

(A) Consumer's risk 

(B) Producer's risk 

~ Bothrisks 

(D) Neither risk 

9®@UJ8;a; @>~rf.Ja;rrL...i.q.. 6llmm6lJQ>l}"Q'lUJ UUJQrru@~~ a;Qfar@t5li.q..uu~ ----- -

(A) !9Ja;r'ra6llrrr'r @Lr'rurr@ 

(B) 12-wu~~turrmr'r @Lr'ru rr@ 

(C) @IJQfar@ @Lirurr@a;~tb 

(D) @'TQfar@ @Lrrurr@a;~li> ~ruQ) 

150. The correct distribution to use to compute consumer's risk exactly is the------

(A) Normal 

~ Hypergeornetric 

(C) Poisson 

(D) Binomial 

(A) @turu%JQ>ru u1J6llru 

(B) ~~Qu®S;®Li u 1J6llru 

(C) UfTlU6fTQrr Ul}"QJQJ 

(D) r:F(lj!f,)IUL.j Ul}'"QJQJ 
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151. For a given lot size, a single sampling plan is completely specified by its -----;mi.-

(A) sample size alone 

(B) acceptance number alone 

../Jilf both sample size and acceptance number 

(D) neither sample size nor acceptance number 

(A) &l.!9J ~m-Gi.mro LDL.@L.O 

(B) 6JJDL..j ~OOQGTITQ) LDL@t.0 

(C) &l.!J)l ~ElTQ.l w!iJwit.O GJJDY ~EM!" .@1100Lrr~t.O 

(D) &l.IDf ~m-Q.Jrr~Lb ~Q>Q) 6JWY ~QRsr~rr~Li:> ~Q>Q) 

152. Changes that have taken place as a result of booms and depressions are cla sified under the 

head 

(A) Seasonal variation 

(B) Secular movements 

~ Cyclical variations 

(D) None of these 

Q)S;s;t.O LDJi>!J)lt.O tnJi>~.@0061> ~6..lUJQJJD!!Sl~ @tq..6'.61ru .@Lt.OGuJDB;sntq..UJ LDrTg)l~Q)a;m QJQ)8;UU@~8;80\.tq..UJ 

~mQ)u4 

(A) U(!96l.JB;rTQ) tDrT!l)JUrr@ 

(B) .£~urr6;@) ,ffiffir'rQig;GiT 

(C) a;wJi>fil tnrrwurr@ 

(D) @ruiiJ!Dlru GJ~uSlru66'>Q) 
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153. • changes that have taken place as a result of such forces that could not be predicted like 

earthquakes, families etc., are classified under the head 

'1/,jif Irregular or Eratic variation 

(B) Seasonal variation 

(C) Cyclical variation 

(D) None of these 

.ffi!Qlp;@.$a;tb, u~<!FLD GurrG!TJD a;~8;a; QPtq..UJrrto 6151Q><!Fa;mrrru @LtbGuJDBian.tq..UJ LDIT!))JpJ@a;Q>QT 

Gl..IQ>a;u u@~toBian.tq..UJ pjQ>Qlu LJ 

154. The best method for finding out seasonal variation is 

(A) Simple average method 

'1Jli!' Ratio to moving average method 

(C) Ratio to trend method 

(D) None of the above 
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155. Value of 'b' in the trend line Y =a+ bX is • 
(A) always positive 

(B) always negative 

.gil'f both positive or negative 

(D) none of the above 

Y =a+ bX 6TGrr8il!D Curr6i® Cs;m.: .. kj..Q> 'b'-Gri LD~Li4 

(A) '1LiQurr@~t.O L.6lms;UJrrB>@®8;<§t.0 

(B) ~uQurr@~a.O @)Q>!J)UJrra;@®Bi®Lb 

(C) uSla>a; ~Q>Q)~ <§Q'l!D 4s;@®.S®Lil 

(D) Gtnw.imm-QJ!D!61ru '"~QJL.6lruQ'JQ) 

156. A group for moving average consists of 

(A) 5-year period 

(B) 3-year period 

~ a period w h1ch forms a cycle 

(D) none of these 

(A) 5-4~@ s;rrQ>ill 

(B) 3--4~@ B;ITQ)ll 

(C) s;wru SL@Qlrr.S®ill a;rrQ)ill 

(D) @QJ!D!!5lru '!~L.6lrumQ) 
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157 .• The annual trend equation Y =a + bX , when reduced to monthly trend equation becomes , Y =~+ bX (B) 
a bX 

Y=-+-
12 144 6 72 

(C) a bX 
(D) 

bX 
Y =-+- Y=a+-

3 36 12 

(A) Y =~+ bX (B) 
a bX 

Y=- + -
12 144 6 72 

(C) Y= a+ bX (D) 
bX 

Y=a+-
3 36 12 

158. The most important factors causing seasonal variations are 

(A) Growth in population 

(B) Technological improvements 

¥ Weather and social customs 

(D) None of these 
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159. A polynomial of the form Y =a+ bX + cX2 is called as 

(A) First degree equation • 
(B) Straight line equation 

~ Second degree equation 
(D) Equation of a circle 

Y =a+ bX + cX2 (;T®ILD 5l<!!i uru~~ul.I Gs;rrmQJ ~m~S;s;uu@QJ~ 

(A) ~(!!) uiq. et06inurr@ 

(B) Gp;irC&rrL..iq.m eL06inurr@ 

(C) @(!!)Utq. 6L06inurr@ 

(D) ~(!!) QJLLU16il 6L06inurr@ 

160. The additive model of a time ser ies is expressed as 

(A) Y = T + S + C x I 

'1/*f Y=T+S-tC+I 
(C) Y = T x S x C x I 

(D) None of these 

6ilTQ) G1f>ITLrrQJnl'1l.JuSlm &.@lf)W LOIT~nl crrmu~Qi Ei6)QTMLD 

(A) Y = T · S + C x I 

(B) Y = T + S + C +I 

(C) Y = T x S x C x I 

(D) @QJJ!>!Dlru 'J~uSlrogiQ) 

161. The various forces affecting the values in a time series are known as---..,...--- of time 
senes. 

(A) 

~ 
(D) 

Reference points 

Fluctuations 

Components 

None 

s;rrQ)~Q~rrLrr QJRlme:uSlm LO~ul.la;mQT urr~8>®L.0 uro~gx "6lmc'fs;m-----crra?uu@t.O 

(A) ®£6lul.lu L.j6it"mls;w 

(B) 'JJD!D"61 !))Mriila;m 

(C) 

(D) 

ACFST 
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162. 
Sn11pling error decreases . h 
A Wlt 

(. ) les•er sample 
\J}ilf 

(C> 
increa e in 
. sample size 
increase of lo li ca ty 

le"ser questions 
(D) 

Bfl.©l LSlmw ®61>wuu~Ji>® 

(A) 61,ID!UJ sn!Drra; @®8ia; aru~©lb 

(B) 8il.©I ~QT~ ~~.!bLDrra; @~6> aru~@tb 

(C) ~Lii> ~~a;LDrr6> @0)8>.s aru~@Lb 

(D) @~!D/b~ ~QT~ Ge;m66la;mrre; ~®S;e; G6l..16Wr@tb 

163. Link relative for any month is calculated by the formula 

(A) 

(C) 

(D) 

Previous month value --------x 100 
Current month value 

Current month value x 
100 

Previous month value 

Current month value x Previous month value 
100 

None 

~fbfh ~® LDrTfh~sf,i!Dl1>rrm @oo~n.J4 6rriTL51 ~MIL ILfh~Lb @;~~IJLD 

(A) QP6Ui' LDrTffe~~6Ur LD~uy x 100 
.(!jLUL.j LDIT~~j6Ur LDjUL.j 

(B) .(!jLUY LDrT~Wfir LDjuy x 100 
QP6Ui' LDITfh~sf,)6Ur LD~U4 

(C) J!>LULj LDITfh~~m LD~uy x @m LDITfh~~Qr LD~U4 

100 
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164. The Index number for 1985 to the base 1980 is 125 and for 1980 to the base 1985 . 0. The 
given indices satisfy 

165. 

~ time rever ·al test 

(B) factor reversal test 

(C) circular test 

(D) all the aboYe 

1980 ~tb ~GirQ)L ~tq.UUQ>L ~aim'ura; G6;rraim'L 1985 ~Li:> ~aim'iq.Q1 ®!6lu5L..QL · 125 tn!f>gitb 

1985 ~tb ~Eim'Q>L ~iq.uuQ>L ~Eim'Lrra> Ge;rraim'L 1980 ~Lb ~aim'iq.Q1 ®Wlu5L..Qu1m 80 4C§tb 

G6irr@6i8iuuL..@mm ®~u5L..GL~8iw ~Q!iu~u@~~~~ 

(A) s;rrro ~®LI~ ~IT~Q)QT 

(B) a>rrfl~ ~®LILJ <!6rrp;Q>QT 

(C) s;19!D61 Gurr~Q)GOT 

(D} C::LO~QrQT c:!)IQ>QT~~LO 

The consumer price index in 1990 increaseb by so percent as compared to the base 1980. 

·~~~ttiPg ft.s. 60,000 per annum should now get 
Pl'~on__l 

:==:;=;;:;::;;;;::;:;:;;;;:;;:;.-.~~~IUJ. I . PP~ ~ 

ro) Rs. i2, ooo per annuill 

--c-r--"'0--~iunum 

(D) None of these 

<:9ilq.UUQ>L ~aim'@ 1980 ~Li:> ~aim'Q>L ~ui5l@6'>s;uSlru, 1990 4Li:> ~~~Q) @!5irCQJITrT ®Wlu5@ 

80 "61Qg8;e>rr@ ~UJrr~~mm~. 1980 ~Lb ~aim'@ ®urru:.i 60,000 4Eim'@ QJ(!!)LDITQTtD Qugv~ma> ~® iourr 
~(bC:urr~ QufDS;antq.UJ~ 

(A) ®LirTuJ 1,08,000 ~Eim'tq.!i>@i 

(C) ®Umi.J 54,000 ~Qfo'Tll\-~® 
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166. Tl. condition for the factor reversal test to be satisfied with usual notations is 

(A) 

(B) 

(C) 

All the above 

(A) 

(B) 

(C) 

(D) 

167. The discrepancy (P01 x Pio -1) is termed as 

Vlff' Joint error 

(B) Homogeneity error 

(C) Formula error 

(D) None of these 

(B) VlalJ" LOIT~iflUJITQT i.5161)~ 

(C) ~~~llu i.5161)~ 

(D) @QJ!DJDlru ~~uSlruQ)ru 
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168. Most preferred type of average for Index Numbers is • 
(A) Arithmetic mean 

.J}lf Geometric l\Iean 

(C) Harmonic ~lean 

(D) None of the above 

169. Laspyre's Index gives an ----- bias and Paasche's index girn an -----

bias. 

(A) upward, upward 

VJ1f upward, downward 

(C) downward, upward 

(D) both downward 

Q>rrWLSlUJrr ®!&IOL.GL6!ilr 

----- t9m~mUJ~Lb ~m!D~· 

(C) £w<:.rr>rra;®· GLDw<:.rr>rra;® 

(D) @176!ilr@Lb £~G,!!irr6>® 
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170 . • heoretically the best average in the construction of Index Number is 

(A) Arithmetic Mean 

(B) Median 

(C) Harmonic Mean 

.§1!' Geometric Mean 

171. When geometric mean is used for averaging the price relatives, the formula for computing 

the index is 

JM Antilog (L~gP) 

(C) (L~gP) (D) None of these 

Gu(!95®6 e:r]rre:filQ>UJ uUJ~u@~~. G~rrLirl..l<'£Q>GTT 61)"rT6filUJrr5®Lb Gurr@~· ®!J511DL.Gu;liar 

<'£QSGT5.$1@6\.J~JD<'£rrar ~~~FJl.b 

(A) "jllirwL5m .. ( L ~ p J 

(C) (L~gP) 
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172. The Factor Reversal Test is satisfied only by 

(A) Laspyre's Index 

~ Fisher's Ideal Index 

(C) Paasche's Index 

(D) Both (A) and (B) 

s;rr11afl ~®LI4 ac!Frr~Q>QTQ')UJ ~®Li~u@~~tb ~al}' ®!Dlu5L..QuiGr 

(A) Q)rrwi.SltUir ®!61IDL..Gui1rr 

(B) LS'l~iflm G61@LDltU ®n5lu5L..Gum 

(C) urr61\Slu51m ®!DluSL..Gum 

(D) (A) LDlDglLD (B) ~£1U .@116Rr@Lb 

173. Which of the following methods satisfies Time Reversal Test? 

(A) The Fisher's Ideal Index 

(B) Simple geometric mean of price relatives 

(C) Marshall - Edgeworth method 

~ All the above 

.$~a;6iGTLQJ!!Jn5lQ> '1"fb~ QPOO!D a;rrQ)~c:;uy ~rr~Q'lm'6>@j 2-LU@HQ>rrtb? 

(A) LS'lwnlm "61Q9tDltU ~~~11ti:> 

(B) G61ooQ> Q~rru'r46;a;rrm Gu®4®6 c!FIJ'ITlfnl 

(C) LOrrrrlfQ> - 6rL..~QQJrrrr~ @mw 

(D) aLDWJIDQT ~Q'lm'~~Lb t 

17 4. Time Reversal test is not satisfied by 

(A) Laspyre's method 

(B) Paasche's method 

(C) Fisher's ideal index ¥ Both (A) and (B) 

s;rrQ> ~®U4 ~rr~Q>QT.$® R . .Lu@~~ (!Plq-UJIT~ 

(A) Q>ITQulSlUJrr (!PQ>!J) 

(B) u rrQ1$1 uSl m (!PQ>!J) 

(C) i.Sl~iflm "61@t.DltU ®iti11DL<;,1L6Rr 

(D) (A) LDtDJtltD (B) ~£UJ .@116Rr@tb 
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175. ' Laspyre's Price Index P01 = 125 and Paasche's Price Index P01 = 126.21, then Bowley's 

Price Index is 

(A) 125.21 

(C) 125 

(B) 126.21 

~ 125.6 

QHTQui.SlllJir 61SlroQ) ®i:Dlu5L...Quilrr P01 = 125 LDrD!!)Jtb urrnnSlu51Qi- 61SlroQ> ®i:DluSO;;lL~ P01 = 126.2i iorGUllro 

Gu~rn5lu9m 6151Q)Q) ®!Dlu5L._QL~ iormu~ 

(A) 125.21 

(C) 125 

(B) 126.21 

(D) 125.6 

176. Indicate the method of constructing price index in which quantities are referred to some 
period not necessarily the base year or current year 

(A) Laspyre's method 

(B) Paasche's method 

(C) Dorbish - Bowley method 

.JJilf Kelly's method 

~tq.uuroL LDJDg)ltb .@.g;wrr~@ LDL@tb @G\>Q.>rrLDro ~C~rr ~® .g;rrQ)~ro~ ~ro~a;mrr.g; Q.g;rr~@ 

6filroQ)6;®r0lu5LQL~Q>QT :L(!9GUrT8;®LD (_y)6'>!D 

(A) ru rrQI) i.Sl lU r'r C:Pro ID 

(B) u rrQl$1 (1:P61>!D 

(C) Lrrr'ri.SlQI) QuGTTCru (lJ>al!D 

(D) Q.g;Q)@]Ql) (lJ>OO!D 

177. In Laspyre's method, which of the following quantities are taken as weights? 

(A) Current year 

aJllJf' Base year 

(C) Both (A) and (B) 

(D) None of these 

rurrQui.SllUr'r C1J>OO!Du9ru. £wa;~L iorf1~ ~m~.g;m .@a>wa;mrra; ior@~~a; Qa;rrmmuu@.$lm!D~? 

(A) J5la;wrr~@ 

\ (B) ~tq.uua>L ~~@ 

(C) (A) LDW!PJLD (B) ~.$ll1J @rJ"~@t.D 

(D) @ru.©i:Dlru ~~uS"lroQ>Q) 
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178. Fisher's Ideal index number is given by formula 

,,<) LP1% x LP1Q1 x 100 (B) 
LP1Qo LP1Q1 
---+· 

L Po% L PoQ1 · LPuQo LP0Q1 

(C) LP1Qo + LP1Q1 x lOO 

· L Po% L PoQ1 
(D) None 

i.Sl~tflQ-r §l!l>s!>$S ®JDluSL_QuilfTQ)QJGT.$ a;QRST.$.$1L 1!...$S61.4lb @;~~rrlb 

(A) LPiQo x LP1Q1 x 100 (B) LP1Qo + LP1Q1 

L Po% L Po% L PoQo L PoQ1 

(C) LPiQo + LP1Q1 x 100 
LPoQo LP0Q1 

179. The geometric mean of Laspeyre's and Paascbe's price indices is called as 

(A) Kelly's price index 

(B) Bowley's price index 

(C) Walsh price index 

~ Fisher's pnce index 

Q)1T6i\>tS1u.JrT lOJDgllD urrwQ\Sl C§JDluSL...Guma;'1fl6ir GU(!!>MEi> 8'1]1T61t1 G;TQrU~ 

(A) Qa;ruroh616ir 661mru.9> ®oSluSL...Qu~r 

(B) Gum~uS'lQ-r 6lS\Q')Q).$ ®WluSL...Qum 

(C) rurrruw 66lmQ).$ ®Wlu.lL_Qum 

(D) tS1 ~rt16ir 6'61 Q)Q).$ ®!!51 uS L... Q um 

180. Index numbers are termed as 

(A) Scientific barometers 

(B) Economic indicators 

~) Economic barometers 

(D) None 

C§Wl ul L Qu;lirr '1"QrU ~ 

(A) &io51661u.Jru UITl)l.OrrQfla;Gi'r 

(B) Gurr®mrr~rr'l ®o51u<:u@a;m 

(C) Gurr(!9'1flUJG.> urrfllDrrQSf\a;Gi'r 

(D) G;T~~uS'IQ)Q')Q) 
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181. 1M.:lack for an activity in network is equal to 

~ IB-~ ~ 
(C) EF - ES (D) 

LF-LS 

EF-LS 

L5\Q)~UJ~~ru. Vl® Gs:UJrourrL.~Qr uJ:Dn>rr.S@>Q"l!D GT6&Tu~6&T s:LDLDrrm~ 

(A) LS-ES (B) LF-LS 

(C) EF-ES (D) EF-IB 

182. If these 'n' workers and 'n' job there would be 

(A) ' n' solutions 

~ ' n !' solutions 

(C) ' (n -1) ' ·solutions 

(D) '(n!Y' ' solutions 

(A) 'n' ~irbtls;m 

(B) ' n !' ~irbtjs;m 

(C) '(n -1)' ~rrQjs;m 

(D) '(n! 'r ' ~rrbtls;m 

183. The right hand side constant of a constraint m a primal problem appears m the 
corresponding dual as 

~ a coefficient in the objective function 

(B) a right hand side constant of a constraint in a dual problem 

(C) an input-out coefficients 

(D) none of the above 

@~~Q")LO s;~8;.$)Q) Q.Hil>~Y!D~~Q) ~mGTT ~UJbfh61>6m"<'Emlro c!lifTaR!TUU@tb LOrrJDl~s;m, ~~a~m@ 

Q~rrLfrLtQ"lLUJ .@(!!)61>LD s;~8;.$)Q) 
I 

(A) Gc!lirr61TQ"ls; s:rrirt5lru @i~s;ri.Js;mrrs; Gp;rrarg)ltb 

(B) .@(!!)Q"lLD s;6m8i£ro, QJQ)~Y!D .ffiluJi>p;Q"lms;mlru LDrrn51ro1s;GTTrrc!li .@®8i@itb 

(C) lt.61Tm@-Grumll!5@s;ml~ @>6Mfc!liffiic!lim ~c!li .@®.S@itb 

(D) GLO~m'""Q"lrus;cllru G;J~uSlru6'>Q) 
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184. If dual has an unbounded solution, primal has 

(A) an unbounded solution • 
VJllf' an infeasible solution 

(C) a feasible solution 

(D) none of the above 

@@QllD, QJIJWL.j.$@)LULITfb P,rrQlQJ Qu!iJ!Dl@J5fbrrQ>, QPf}jQTQ>LD Qud>Jbl@UU~ 

(A) QJl]WL.f.$®LULrr~ ~irQ.j 

(B) SIT~lDrD!!) ~rTQ.j 

(C) arr~ P,rrQ.j 

(D) alD~QrmQ)QJs;~ru~~~ruQlru 

185. For maximization linear programming problem, the simplex method is terminated when all 
net evaluations are 

(A) negative 

~ non-negative 

(C) zero 

(D) non-positive 

inuGu® Cp;filGl>L ~l...L s;Gm"Uilii>®· ~atluu61iGTQPs; QPQ>JD QPtq..Q.j.!i® QJ(5QJ~. GTWa>rT JblB>fT w~uL.fs(5th 

(A) ~tiJiflQ>LUJIT@)W 

(B) ~~iflQ)LUJW!DfblT@)W 

(C) ~UJtO ~t.b 

(D) Cp;filGl>LUJ!i>JD~IT@)tO 

186. Given a system of 'm' simultaneous linear equations in 'n.' unknowns, the number of basic 
variables will be 

'IJ;il' m (B) n 

(C) n-m (D) n + m 

Gs;rr@&s;uul...@rom 'm' GfbrrLfr66lUJrrQT Cp;iflQ>L sl.oQ'furr@a;~ro st.Q-rm 'n' Q~nlUJrr~ l.D~U4Bi~~· 

.,!)ltq..UUQ>L tnrr,©ls;~Q'[ {;1"61iGraiafl6;Q>a; 

(A) m (B) n 

(C) n- m (D) n + m 
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187. A ~,mstraint in an linear programming problem restricts 

(A) value of objective function 

(B) value of a decision variable 

~ use of available resource 

(D) uncertainty of optimum value 

(gJDITl~L ~L..Ldi a;6Wfdi~ro . .ffilu~~~~a;ffi a;L..@uu@~~6ll~ 

(A) Qa;rrro~a; a:rrfry to~u6IDu 

188. Which of the following is not associated with an LPP? 

(A) Proportionality ~ncertainty 
(C) Additivity (D) Divisibility 

((>..) 6l5'1.$l~rr B:a:rrf)tb (B) ~IDJ~lLllD!D~ 

(C) Bfl.@~ro (D) 6ll@)~~ru 

189. Decision variables in an operations research are 

~ Controllable 

(C) Parameters 

73 

(B) Uncontrollable 

(D) Constants 

(B) toL..@uu@~~ .@lUrurr~~ 

(D) torr!Dlrolc$ro 
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190. Which of the following is true for the assignment problem? 

~ The number of rows equal to the number of columns • 
(B) The number of ro\vs must be le~s than number of column~ 

(C) MODI method can be used to find optimal solution 

(D) None of these 

~~a;~LGl.!WgJlcir. si~dL...@ t.S1JJ6a:6Wlm Gurr~~~ GT~ arflUJrrQll~? 

(A) Jb)1J@B;ffilm GT~~B;6na;, Jb)mw.scllm GT~;wH;~n8i~8i6i® 6LDtnrrs @®&$ c ~@t.D 

(B) Jt;llJrua;rolat GT~~8;Gf)a;, .@a>!Da;ffilm gEii!r£cil.$61ls;Q>UJ Qj}L ®Q)!DM aai @t.O 

(C) MODI (!PQ'>!!)Q'>UJ uUJGirru@~~ f!_E£ff>~ P,ir6f>roi.J a;61iiir@15hq.S;a; C!P~ll..fili 

(D) ~ru,!D!D"lro q~uS1ru61)ro 

191. BASIC stands for 

(A) Beginner's All Purpose Symbol Instruction Code 

~ Beginner's All Purpo~e Symbolic Instruction Code 

(C) Beginner's All Symbol Instruction Coding 

(D) Beginner's All Symbolic Instruction Coding 

BAS I c (;f GirrLJ ~Gin "61 Jflroi.J IT .$a;ili 

(A) .Beginner's All Purpose Symbol Instruction Code 

(B) Beginner:s Au Purpose Symbolic Instruction Code 

(C) Beginner's All Symbol Instruction Coding 

(D) Beeinner's All Symbolic Instruction Coding 

192. Descriptive comments are put in the source program with the------

(A) PRINT statement (B) INPUT statement 

(C) DATA statement v"REl\lARK statement 

Ga:UJru~L...1,...P>~ru. s;®~~Q)JJQ)UJ ------&.!D!!SlGirr {!Prut.D G$f>iil6l518is;rorrili. 

(A) .PRINT &.Ji>~ (B) INPUT 8il.!D~ 

(C) DATA &.!Dgii (D) RE~1ARK BA.!i>~ 
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193. ~ASIC is a------ level language. 

(A) machine 

~high 

BASIC ~~u~ -----GLDrr~. 

(A) Qurr!l)1 

( C) ~UJ rrffe 6'r)Q) 

194. RESTORE statement 

(B) low 

(D) hybrid 

(B) £wwLL 

(D) a;Q)ui.Slm 

~rings the pointer back to the first value in the data block 

(B) brings the pointer to the middle value in the data block 

(C) brings the pointer to the last value in the data block 

(D) none of the above 

RESTORE ~6'r>~UJrr~~ 

(A) ®!Dluurr6'r>6WT, ®!Dla;aa;rr6'r>6lJ Qa:li.J~ iM.J:!)Ja;ffilQ-r ~rri.bu~~ru fDa;ri"~fi uUJQ'ru@.$1JD~ 

(B) ®!61LiurrGr>6lm', ®!Dla;aa;rrGr>GU Ga:u:.i~ an.roia;QflQ-r@mu15lru Jf>lf>IT~fh uUJ~u@£lJD~ 

(C) ®!DluurrmQIM, ®!Dla;aa;rr6'r>6lJ Qe:u:.i~ &©Ja;Qfl~ QP~Gl.Slro Jf>lf>rT~fh uUJQ'ru@.$1JD~ 

(D) aLD!i>Bfl.!DlUJ ~m6lJt1...1t.6lruQ'>Q) 

195. BASIC was invented by 

(A) J. Kemeny (B) Cooper 

(C) Prof. John McCarthy ~ohn Kemeny and Thomas Kurtz 

BASIC GLOrr~mUJ afbrr!i>roiGl.Sl~ffjQJ rT 

(A) j. Kemeny 

(S) Prof. Jo,lm McCarthy 
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(B) Cooper 

(D) John Kemeny and Thomas Kurt:?.. 
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196. Which of the following BASIC statements is correct? • 
(A) IXPUTNS 

(B) 60 LET C · D = Q 

~ 45 PRINT X, Y, Z 

(D) 100 END 

(A) INPUT NS 

(B) 60 LET C + D = Q 

(C) 45 PRINT X, Y, Z 

(D) 100 END 

197. If G.R.R > 1, 

VJlf"" the population would increase 

(B) the population would decrease 

(C) the remain static 

(D) the population would neither decrease nor increase 

G .R.R > 1 GT~ru 
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198. Which of the following is not a disadvantage of LSD? 

~SD is an incomplete 3-way layout 

(B) The assumption that the factors act independently may not be true 

(C) The number of treatments is restricted to the number of replications 

(D) In the field layout, LSD is difficult to manage 

Aiki:ls;~u;u!iJw6fr. GT~ @Q)iDP,~ 61Jrr8:.e; ~L.LiD~~ ®Q)!D ~G\>Q)? 

(A) @Q)fl;f>~ 6Ur'r$e; ~LLLD ~® (Y)@Q'>lDUJGUQJIT~ 3 QJ~ ~LLLDIT®LD 

(B) 

(C) 

BiITl)~.SGIT 8'ITl)ITLDGU .@UJffii®$)~!J)6lrr 6T~!!J ~®JLDIT61ITLD ~~Q)LDUJIT.s@Gi>6UITLDGU .@@8>.s@rrt.0 

a.!rlTfhQ)61IT Gurr@GIT.Sffi'l~ 6T~6Wf)8;Q'}a;UJIT61IT~ ~®LOU Ga:tiJ~ro 6T~6Wfl6;Q)s;8;@) 8'LDL.OIT.S .@®tifhro 
C:6lJ~@t.O 

199. If the sample size n is small, to test if the sample mean x differs significantly from the 
population mean µ, which test is used? 

200. 

~ t -test (B) F -test 

(C) .z2 -test (D) normal test 

QJITuJUL..j 8il.IDJ ~GIT6l.j n 6l.[6lfhITB; .@®ffi@t.O C:urr~. QJITuJUL..j &l.IDJ 8'1)IT8'ITl x ~61IT~ Qfl@GOLDtiGfhIT®~ 
8'1)IT8'ITl µ GOlQ$l®Ji>~ uSlQ'>s;UUL 60lti~UJIT8'UU@.$l!!JfhlT 6T~UQ'>~ as=rr~M 6T~6UT as=rrP'iQ)6lrr UUJ~u@.$l!!J~? 

(A) 

(C) 

t -C:8'ITfhQ)61IT 

%2 -C:8'1TfhQ)61IT 

(B) F -C:s:rrp;Q'>m 

(D) .@UJGi>.ffi'160ru C:s=ITfhQ'l6lrr 

If 100 females give birth to 80 female babies, the~.R.R. will be equal to 

(A) 0.4 ~ 0.8 

(C) 1.2 (D) 1.6 

100 Gu~.sm 80 Gu~ ®~Ji>Q)P'i.S6'>GIT Gu!DG!D@iDP'irrro. G.R.R-~ tn~uy 

(A) 0.4 (B) 0.8 

(C) 1.2 (D) 1.6 
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SPACE FOR ROUGH \VORK • 

• 
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SPACE FOR ROUGH WORK 
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